THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid M4-MD010 Ended At Aug 14, 2024 10:00:00 AM CDT CONTST/MAPS 4 - M4-MD010 MAPS 4 Diversion Hub

Company:	Wynn Construction Co., Inc	Downey Contracting, L.L.C.
Base Bid	\$14,786,000.00	\$15,512,000.00
Alternate 1	\$155,000.00	\$117,000.00
Alternate 2	\$50,000.00	\$17,000.00
Alternate 4	\$170,000.00	\$164,000.00
Alternate 5	\$308,000.00	\$262,000.00
Alternate 6	\$186,000.00	\$203,000.00
Alternate 7	\$217,000.00	\$193,000.00
TOTAL BID:	\$15,872,000.00	\$16,468,000.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #M4-MD010 - M4-MD010 MAPS 4 Diversion Hub

Creation Date **Jul 9, 2024** End Date **Aug 14, 2024 10:00:00 AM CDT**

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

M4-MD01001-01 Base Bid: M4-MD010					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$14,786,000.00	1 / lump sum	\$14,786,000.00	Υ	Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$15,512,000.00	1 / lump sum	\$15,512,000.00	Υ	Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			

M4-MD01002-01 Alternate 1: M4-MD010					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$117,000.00	1 / lump sum	\$117,000.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$155,000.00	1 / lump sum	\$155,000.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

M4-MD01003-01 Alternate 2: M4-MD010					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$17,000.00	1 / lump sum	\$17,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

M4-MD01004-01 Alternate 4: M4-MD010					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$164,000.00	1 / lump sum	\$164,000.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$170,000.00	1 / lump sum	\$170,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

M4-MD01005-01 Alternate 5: M4-MD010					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$262,000.00	1 / lump sum	\$262,000.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$308,000.00	1 / lump sum	\$308,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

M4-MD01006-01 Alternate 6: M4-MD010						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$186,000.00	1 / lump sum	\$186,000.00		Υ
Product Code:	Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$203,000.00	1 / lump sum	\$203,000.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

M4-MD01007-01 Alternate 7: M4-MD010							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$193,000.00	1 / lump sum	\$193,000.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e :				
Wynn Construction Co., Inc	First Offer - \$217,000.00	1 / lump sum	\$217,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: .	e:				

Supplier Totals

f Wynn Const	truction Co., Inc	\$15,872,000.00 (7/7 items)
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch: ∭
C D			
τ Downey Coi	ntracting, L.L.C.	\$16,468,000.00 (7/7 items))
Bid Contact	ntracting, L.L.C. Sheila Stovall dzimbelman@downeycontracting.com Ph 405-478-5277	\$16,468,000.00 (7/7 items) Address 3217 NE 63rd Street Oklahoma City, OK 73121	
Bid Contact	Sheila Stovall dzimbelman@downeycontracting.com	Address 3217 NE 63rd Street	

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

City Clerk

Bid MB-1713 Ended At Aug 14, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - New Swift Water Response Storage Building

Company:	Calm Construction LLC #6	Globe Construction Co.	HGL Construction
Base Bid	\$338,000.00	\$485,200.00	\$497,025.00
TOTAL BID:	\$338,000.00	\$485,200.00	\$497,025.00

Company:	Apollo Building Systems #3	Pillar Contracting	
Base Bid	\$504,048.00	\$515,000.00	
TOTAL BID:	\$504,048.00	\$515,000.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized
- #6 Bid Bond does not reference the project number or description

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MB-1713 - New Swift Water Response Storage Building

Creation Date **Jun 21, 2024** End Date **Aug 14, 2024 10:00:00 AM CDT**

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

MB-171301-01 Base Bid: New Swift Water F	B-171301-01 Base Bid: New Swift Water Response Storage building					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Calm Construction LLC	First Offer - \$338,000.00	1 / lump sum	\$338,000.00	Y	Υ	
Product Code:		Supplier Product Cod				
Agency Notes:		Supplier Notes: Bid B	ond Attached			
Globe Construction Co.	First Offer - \$485,200.00	1 / lump sum	\$485,200.00	Y	Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
HGL Construction	First Offer - \$497,025.00	1 / lump sum	\$497,025.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Apollo Building Systems 🙀	First Offer - \$504,048.00	1 / lump sum	\$504,048.00		Y	
Product Code:		Supplier Product Cod	le: 909-24	•		
Agency Notes:		Supplier Notes:				
Pillar Contracting	First Offer - \$515,000.00	1 / lump sum	\$515,000.00	Y	Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				

Supplier Totals

supplier rotal	-		
f Calm Const	ruction LLC	\$338,000.00	
е	im Flying Out stimating@calmconstruct.com h 405-265-7126	Address PO Box 851075 Yukon, OK 73085	
Agency Notes	:		Head Attch:
f Globe Const	truction Co.	\$485,200.0	00
Bid Contact	Peter Morrical pmorrical@globebuilds.com Ph 405-478-3502	Address PO Box 17420 Oklahoma City, OK 73	136
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f HGL Constr	uction	\$497,025.	.00
Bid Contact	Pat Renshaw hburge@hglconstruction.com Ph 405-737-7588	Address OKLAHOMA CITY, OK 73130	
Qualifications	MBE OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: Authorized on Aug 12, 2024)		
Agency Notes	:	Supplier Notes:	Head Attch:



**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid MP-0620 Ended At Aug 14, 2024 10:00:00 AM CDT CONSTRUCTION/OCPPA - Devon Park Stadium Improvements

Company:	Globe Construction Co.	Downey Contracting, L.L.C.	Wynn Construction Co., Inc
Base Bid	\$232,000.00	\$287,000.00	\$520,000.00
Alternate No. 1	\$149,900.00	\$279,000.00	\$145,000.00
Alternate No. 2	\$672,000.00	\$713,900.00	\$720,000.00
TOTAL BID:	\$1,053,900.00	\$1,279,900.00	\$1,385,000.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MP-0620 - Devon Park Stadium Improvements

Creation Date **Jul 2, 2024** End Date **Aug 14, 2024 10:00:00 AM CDT**

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

MP-062001-01 Base Bid: Devon Park Stadium Improvements							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Globe Construction Co.	First Offer - \$232,000.00	1 / lump sum	\$232,000.00	Υ	Y		
Product Code:	Supplier Product Code:						
Agency Notes:	Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$287,000.00	1 / lump sum	\$287,000.00	Υ	Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$520,000.00	1 / lump sum	\$520,000.00	Υ	Y		
Product Code:	Supplier Product Cod	e:					
Agency Notes: Supplier Notes:							

MP-062002-01 Alternate No. 1: Traffic Coating Over Concourse							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Wynn Construction Co., Inc		First Offer - \$145,000.00	1 / lump sum	\$145,000.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
Globe Construction Co.		First Offer - \$149,900.00	1 / lump sum	\$149,900.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Downey Contracting, L.L.C.		First Offer - \$279,000.00	1 / lump sum	\$279,000.00		Υ	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				

MP-062003-01 Alternate No. 2: Suspended Metal Ceiling Panel Soffit							
Supplier Unit Price (Qty/Unit	Total Price	Attch.	Docs		
Globe Construction Co.	First Offer - \$672,000.00	1 / lump sum	\$672,000.00		Υ		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:							
Downey Contracting, L.L.C. First Offer - \$713,900.00		1 / lump sum	\$713,900.00		Υ		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Wynn Construction Co., Inc	First Offer - \$720,000.00	1 / lump sum	\$720,000.00		Υ		
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:					

Supplier Totals

f Globe Const	ruction Co.	\$1,053,900.00 (3/3 items)	
Bid Contact	Peter Morrical pmorrical@globebuilds.com Ph 405-478-3502	Address PO Box 17420 Oklahoma City, OK 73136	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Downey Coi	ntracting, L.L.C.	\$1,279,900.00 (3/3 items)	

Bid Contact	Sheila Stovall dshaw@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f Wynn Const	truction Co., Inc	\$1,385,000.00 (3/3 items)	
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid PM-0312 Ended At Aug 14, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Residential, Local and Collector Street Resurfacing

Company:	Atlas Paving Company	Silver Star Construction Company	Rudy Construction Co.
BASE BID	\$6,886,875.00	\$7,268,014.60	\$7,287,250.00
TOTAL BID:	\$6,886,875.00	\$7,268,014.60	\$7,287,250.00

Company:	T.J. Campbell Construction Co.	Ellsworth Construction OKC dba A- Tech Paving	SCHWARZ PAVING CO., INC.
BASE BID	\$7,370,230.00	\$7,399,576.00	\$7,499,630.00
TOTAL BID:	\$7,370,230.00	\$7,399,576.00	\$7,499,630.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #PM-0312 - Residential, Local and Collector Street Resurfacing

Creation Date **Jul 1, 2024** End Date **Aug 14, 2024 10:00:00 AM CDT**

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

PM-031201-01 BASE BID: 200-00 UNCLASSIFIED EXCAV	/AT	ION				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$7.15	2000 / cubic yard	\$14,300.00	Y	Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$18.00	2000 / cubic yard	\$36,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.	П	First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.		First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
T.J. Campbell Construction Co.		First Offer - \$22.00	2000 / cubic yard	\$44,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Atlas Paving Company 👔		First Offer - \$35.00	2000 / cubic yard	\$70,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		

PM-031201-02 BASE BID: 200-01 UNSUITABLE MATERIA	L EXCAVATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$6.60	2000 / cubic yard	\$13,200.00		Y
		Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$18.00	2000 / cubic yard	\$36,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.	First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$26.00	2000 / cubic yard	\$52,000.00		Υ
Product Code: Agency Notes:	•	Supplier Product Code Supplier Notes:	e:		
Atlas Paving Company 👔	First Offer - \$35.00	2000 / cubic yard	\$70,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

PM-031201-03 BASE BID: 200-04 DRAINAGE DITCH EXCAVATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$1.00	5000 / linear foot	\$5,000.00		Y

		Supplier Product Code:		
Agency Notes:	T	Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.50	5000 / linear foot	\$7,500.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company 👔	First Offer - \$2.60	5000 / linear foot	\$13,000.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	5000 / linear foot	\$15,000.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$3.50	5000 / linear foot	\$17,500.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$3.75	5000 / linear foot	\$18,750.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

PM-031201-04 BASE BID: 202-00 UNCLASSIFIED BORRO)W				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$25.00	500 / cubic yard	\$12,500.00		Υ
		Supplier Product Coo Supplier Notes:	le:		
Atlas Paving Company 👔	First Offer - \$30.00	500 / cubic yard	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
Rudy Construction Co.	First Offer - \$30.00	500 / cubic yard	\$15,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$30.00	500 / cubic yard	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$30.00	500 / cubic yard	\$15,000.00		Y
		Supplier Product Coo Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$35.00	500 / cubic yard	\$17,500.00		Υ
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		

PM-031201-05 BASE BID: 220-01 SUBGRADE (8 INCHES	COMPACTED)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$4.00	1000 / square yard	\$4,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$5.00	1000 / square yard	\$5,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.00	1000 / square yard	\$5,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.00	1000 / square yard	\$5,000.00		Υ
Product Code:		Supplier Product Code:			

Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$6.00	1000 / square yard	\$6,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$7.00	1000 / square yard	\$7,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-031201-06 BASE BID: 220-02 PROOF ROLLING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$0.12	100000 / square yard	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$0.15	100000 / square yard	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 🙀	First Offer - \$0.25	100000 / square yard	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$0.35	100000 / square yard	\$35,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.40	100000 / square yard	\$40,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$0.60	100000 / square yard	\$60,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-031201-07 BASE BID: 222-05 CEMENTITIOUS STABILIZED SUBGRADE (8 INCHES THICK COMPACTED)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$2.50	7040 / square yard	\$17,600.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$3.50	7040 / square yard	\$24,640.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$4.00	7040 / square yard	\$28,160.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$4.00	7040 / square yard	\$28,160.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$4.50	7040 / square yard	\$31,680.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.50	7040 / square yard	\$38,720.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PM-031201-08 BASE BID: 222-18 CEMENT SLURRY (4%)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
• •					-

Silver Star Construction Company		First Offer - \$256.00	500 / ton	\$128,000.00		Y
			Supplier Product Code: Supplier Notes:			
Atlas Paving Company 🙀		First Offer - \$279.00	500 / ton	\$139,500.00		Υ
Product Code: Agency Notes:	•		Supplier Product C Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC.		First Offer - \$285.00	500 / ton	\$142,500.00		Υ
			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$290.00	500 / ton	\$145,000.00		Υ
Product Code: Agency Notes:	•		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$315.00	500 / ton	\$157,500.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
T.J. Campbell Construction Co.		First Offer - \$350.00	500 / ton	\$175,000.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		

PM-031201-09 BASE BID: 225-00 AGGREGATE BASE (TYP	PE A)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$64.00	1000 / cubic yard	\$64,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:				
Silver Star Construction Company 👔	First Offer - \$74.00	1000 / cubic yard	\$74,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:				
Rudy Construction Co.	First Offer - \$75.00	1000 / cubic yard	\$75,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$80.00	1000 / cubic yard	\$80,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$80.00	1000 / cubic yard	\$80,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Atlas Paving Company 👔	First Offer - \$100.00	1000 / cubic yard	\$100,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

PM-031201-10 BASE BID: 226-02 PROCESSING EXISTING BASE AND SURFACE METHOD B (8 INCHES THICK COMPACTED)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔		First Offer - \$1.00	32000 / square yard	\$32,000.00		Y				
Product Code:	Supplier Product Code:									
Agency Notes:			Supplier Notes:							
Silver Star Construction Company 👔		First Offer - \$1.90	32000 / square yard	\$60,800.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Rudy Construction Co.		First Offer - \$2.00	32000 / square yard	\$64,000.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2.25	32000 / square yard	\$72,000.00		Υ				

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	32000 / square yard	\$80,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$2.75	32000 / square yard	\$88,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

PM-031201-11 BASE BID: 226-05 PROCESSING EXISTING	G BASE & SURFACE W	ITH CHEMICAL ADDITIVE	METHOD E			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1.50	32000 / square yard	\$48,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		·			
Silver Star Construction Company	First Offer - \$2.50	32000 / square yard	\$80,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.50	32000 / square yard	\$80,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3.75	32000 / square yard	\$120,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$3.75	32000 / square yard	\$120,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	32000 / square yard	\$128,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-031201-12 BASE BID: 301-07 ASPHALT CRACK REPAIR	R T	TYPE S6 (1/2 INCH TO 2	2 INCHES)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.		First Offer - \$185.00	50 / ton	\$9,250.00		Y	
			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$275.00	50 / ton	\$13,750.00		Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.		First Offer - \$300.00	50 / ton	\$15,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$400.00	50 / ton	\$20,000.00		Y	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Atlas Paving Company 🙀		First Offer - \$450.00	50 / ton	\$22,500.00		Υ	
			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$450.00	50 / ton	\$22,500.00		Y	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			

PM-031201-13 BASE BID: 301-35 SUPERPAVE TYPE S6 (P	G 64-22 OK)		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$108.28	4000 / ton	\$433,120.00		Y	
			Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔		First Offer - \$115.00	4000 / ton	\$460,000.00		Y	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$119.00	4000 / ton	\$476,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$120.00	4000 / ton	\$480,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$120.00	4000 / ton	\$480,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$125.50	4000 / ton	\$502,000.00		Y	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			

PM-031201-14 BASE BID: 301-36 SUPERPAVE TYPE S	66 (PG 58-28 OK)(15%RAP)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$90.50	4000 / ton	\$362,000.00		Y
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$100.60	4000 / ton	\$402,400.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Atlas Paving Company 🙀	First Offer - \$115.00	4000 / ton	\$460,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$115.00	4000 / ton	\$460,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$115.00	4000 / ton	\$460,000.00		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$116.00	4000 / ton	\$464,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PM-0312-01-15 BASE BID: 301-37 SUPERPAVE TYPE S3 (PG 64-22 OK)(15% RAP)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 🙀		First Offer - \$90.00	8000 / ton	\$720,000.00		Y			
Product Code:			Supplier Product (Code:					
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$93.50	8000 / ton	\$748,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$95.00	8000 / ton	\$760,000.00		Y			
Product Code:			Supplier Product (Code:					
Agency Notes:			Supplier Notes:						
			T T						

ar aria Conocior Circor	no madio			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$95.28	8000 / ton	\$762,240.00	Υ
Product Code:		Supplier Product C	Code:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$99.00	8000 / ton	\$792,000.00	Υ
Product Code:		Supplier Product C	Code:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	8000 / ton	\$800,000.00	Υ
Product Code:		Supplier Product C	Code:	
Agency Notes:		Supplier Notes:		

PM-031201-16 BASE BID: 301-39 SUPERPAVE TYPE S5 (P	G 64-22 OK)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$110.00	8000 / ton	\$880,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$119.09	8000 / ton	\$952,720.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$120.00	8000 / ton	\$960,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$120.00	8000 / ton	\$960,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$120.00	8000 / ton	\$960,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$120.40	8000 / ton	\$963,200.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-031201-17 BASE BID: 301-41 SUPERPAVE TYPE S	S5 (PG !	58-28 OK)(15% RAP)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$101.50	8000 / ton	\$812,000.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company 👔		First Offer - \$105.00	8000 / ton	\$840,000.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$112.54	8000 / ton	\$900,320.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$115.00	8000 / ton	\$920,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$115.00	8000 / ton	\$920,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$118.00	8000 / ton	\$944,000.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

PM-031201-18 BASE BID: 303-07 ASPHALT CRACK REPA	IR-2 INCHES AND WIDE	ER .				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$10.00	2000 / linear foot	\$20,000.00		Υ	
Product Code:	·	Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$12.00	2000 / linear foot	\$24,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$16.00	2000 / linear foot	\$32,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$16.00	2000 / linear foot	\$32,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$18.00	2000 / linear foot	\$36,000.00		Y	
		Supplier Product Code Supplier Notes:	e:			
Silver Star Construction Company 👔	First Offer - \$19.50	2000 / linear foot	\$39,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	·		

PM-0312-01-19 BASE BID: 304-06 P. C. CONC. PAVEMENT (8 INCHES) (4000 PSI HES) (REINF. CONC. VALLEY GUTTE								
Supplier	Unit Price		Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$103.40	1200 / square yard	\$124,080.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$110.00	1200 / square yard	\$132,000.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$120.00	1200 / square yard	\$144,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co.	First Offer - \$120.00	1200 / square yard	\$144,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$128.00	1200 / square yard	\$153,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company 👔	First Offer - \$140.00	1200 / square yard	\$168,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		•				

PM-0312-01-20 BASE BID: 304-31 P C CONC PVMT (7 INCH)(DOWELL JOINTED) (4000 PSI HES 500 SY AND GREATER)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 👔	First Offer - \$90.00	2000 / square yard	\$180,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$90.00	2000 / square yard	\$180,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$92.00	2000 / square yard	\$184,000.00		Y					
Product Code:		Supplier Product Code:								

Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$92.90	2000 / square yard	\$185,800.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$95.00	2000 / square yard	\$190,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$99.00	2000 / square yard	\$198,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

PM-031201-21 BASE BID: 305-00 CURB AND GUTTER (A	LL TYPES)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$33.00	2000 / linear foot	\$66,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:				
Atlas Paving Company 👔	First Offer - \$35.00	2000 / linear foot	\$70,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:				
Silver Star Construction Company 🙀	First Offer - \$36.20	2000 / linear foot	\$72,400.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$40.00	2000 / linear foot	\$80,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$40.00	2000 / linear foot	\$80,000.00		Y	
		Supplier Product Code Supplier Notes:	e:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$40.00	2000 / linear foot	\$80,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

PM-031201-22 BASE BID: 305-14 INTEGRAL CURB FOR SI	DEWALK (6 INCHES TO	O 12 INCHES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:				
Atlas Paving Company 👔	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:	·			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12.00	1000 / linear foot	\$12,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Υ	
		Supplier Product Code Supplier Notes:	e:			
Silver Star Construction Company 👔	First Offer - \$37.15	1000 / linear foot	\$37,150.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

PM-0312–01-23 BASE BID: 305-15 HEADER CURB (6 INCHES X 2 FOOT 8 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Υ				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:							
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	1000 / linear foot	\$15,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:	·						
Atlas Paving Company 👔	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$22.00	1000 / linear foot	\$22,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:						
Rudy Construction Co.	First Offer - \$25.00	1000 / linear foot	\$25,000.00		Y				
		Supplier Product Code Supplier Notes:	e:						
Silver Star Construction Company	First Offer - \$28.10	1000 / linear foot	\$28,100.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:						

PM-031201-24 BASE BID: 309-03 HAUL OUT MILLED PA	AVEMENT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$0.05	50000 / square yard	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.10	50000 / square yard	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$0.40	50000 / square yard	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$0.50	50000 / square yard	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·	
T.J. Campbell Construction Co.	First Offer - \$0.95	50000 / square yard	\$47,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$1.20	50000 / square yard	\$60,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-0312-01-25 BASE BID: 309-12 COLD MILLING PAVEMENT (ASPHALT UP 4 INCH)(FINE MILL)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$2.25	100000 / square yard	\$225,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$3.25	100000 / square yard	\$325,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rudy Construction Co.	First Offer - \$3.50	100000 / square yard	\$350,000.00		Y				

Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$3.50	100000 / square yard	\$350,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.00	100000 / square yard	\$400,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$4.75	100000 / square yard	\$475,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-031201-26 BASE BID: 309-14 COLD MILLING PVMT (PCC UP TO 2 INCH)(F	INE MILL)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$4.00	9000 / square yard	\$36,000.00		Y	
		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$4.00	9000 / square yard	\$36,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$4.25	9000 / square yard	\$38,250.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$4.50	9000 / square yard	\$40,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$5.00	9000 / square yard	\$45,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.00	9000 / square yard	\$54,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$2.50	8000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2.75	8000 / linear foot	\$22,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.75	8000 / linear foot	\$22,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$3.00	8000 / linear foot	\$24,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$3.00	8000 / linear foot	\$24,000.00		Y
		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$3.75	8000 / linear foot	\$30,000.00		Y
Product Code:		Supplier Product Code	•		

Agency Notes: Supplier Notes:

PM-031201-28 BASE BID: 310-05 CLEANING AND SEA	LING P.C. CONCRETE JO	INTS				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.75	2000 / linear foot	\$7,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-031201-29 BASE BID: 310-06 CLEANING AND SEALI	NG P.C. CONCRETE CR	ACKS			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.75	2000 / linear foot	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-0312-01-30 BASE BID: 312-00 DIAMOND GRINDING P.C. CONC.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$5.00	5000 / square yard	\$25,000.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$7.00	5000 / square yard	\$35,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

T.J. Campbell Construction Co.	First Offer - \$8.25	5000 / square yard	\$41,250.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$10.00	5000 / square yard	\$50,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$10.50	5000 / square yard	\$52,500.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$12.00	5000 / square yard	\$60,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PM-031201-31 BASE BID: 313-00 TACK COAT (CSS-1H OR	C	BC-1H)					
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$3.50	9000 / gallon		\$31,500.00		Υ
			Supplier Product C Supplier Notes:	ode:			
Silver Star Construction Company		First Offer - \$3.80	9000 / gallon		\$34,200.00		Υ
			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$4.00	9000 / gallon		\$36,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	Τ	First Offer - \$4.50	9000 / gallon		\$40,500.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔		First Offer - \$5.00	9000 / gallon		\$45,000.00		Y
		Supplier Product C Supplier Notes:	ode:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$6.50	9000 / gallon		\$58,500.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:			

PM-031201-32 BASE BID: 313-01 TACK COAT (ULTRA	117101	•				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$4.00	9000 / gallon	\$36,000.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$4.00	9000 / gallon	\$36,000.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$5.00	9000 / gallon	\$45,000.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company 👔		First Offer - \$5.50	9000 / gallon	\$49,500.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$5.50	9000 / gallon	\$49,500.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$7.00	9000 / gallon	\$63,000.00		Υ

bid #PM-0312 - Residential, Local and Collector Street

City of Oklahoma City and its Trusts

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PM-031201-33 BASE BID: 316-00 SUPERPAVE DELIVI	ERY SURCHARGE (ONE W	AY)(OVER 5 MILES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$0.40	150000 / ton mile	\$60,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co. 👔	First Offer - \$0.40	150000 / ton mile	\$60,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$0.40	150000 / ton mile	\$60,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$0.50	150000 / ton mile	\$75,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.50	150000 / ton mile	\$75,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$0.55	150000 / ton mile	\$82,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,			

PM-031201-34 BASE BID: 404-00 STRUCTURAL CONCRE	ETE .				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$500.00	50 / cubic yard	\$25,000.00		Υ
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:			
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	50 / cubic yard	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$525.00	50 / cubic yard	\$26,250.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$600.00	50 / cubic yard	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$675.00	50 / cubic yard	\$33,750.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$800.00	50 / cubic yard	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PM-031201-35 BASE BID: 404-04 CONCRETE (FLOWABLE FILL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$245.00	25 / cubic yard	\$6,125.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$250.00	25 / cubic yard	\$6,250.00		Y			
Product Code:		Supplier Product Co	de:					

Agency Notes:	Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$260.00	25 / cubic yard	\$6,500.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$350.00	25 / cubic yard	\$8,750.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$380.00	25 / cubic yard	\$9,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$500.00	25 / cubic yard	\$12,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PM-031201-36 BASE BID: 411-00 REINFORCING STEEL						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$1.25	5000 / pounds	\$6,250.00		Y
			Supplier Product Code: Supplier Notes:			
Atlas Paving Company 🙀		First Offer - \$2.00	5000 / pounds	\$10,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Silver Star Construction Company 👔		First Offer - \$2.00	5000 / pounds	\$10,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2.15	5000 / pounds	\$10,750.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$2.50	5000 / pounds	\$12,500.00		Y
			Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co. 🙀		First Offer - \$3.00	5000 / pounds	\$15,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:	·	

PM-031201-37 BASE BID: 451-01 (CGMP) STORM PIPE (1	8 INCHES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$48.00	100 / linear foot	\$4,800.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$60.26	100 / linear foot	\$6,026.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		
Rudy Construction Co.	First Offer - \$70.00	100 / linear foot	\$7,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$75.00	100 / linear foot	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
SCHWARZ PAVING CO., INC.	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y
Product Code: Agency Notes:	I	Supplier Product Coc Supplier Notes:	le:		

Ellsworth Construction OKC dba A-Tech Paving	Fir	rst Offer - \$85.00	100 / linear foot	\$8,500.00	Y
Product Code:			Supplier Product Cod	e:	
Agency Notes:			Supplier Notes:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	Fir	rst Offer - \$300.00	4 / each	\$1,200.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
T.J. Campbell Construction Co.	Fir	rst Offer - \$400.00	4 / each	\$1,600.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Rudy Construction Co. 👔	Fir	rst Offer - \$450.00	4 / each	\$1,800.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	Fir	rst Offer - \$475.00	4 / each	\$1,900.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	Fir	rst Offer - \$575.00	4 / each	\$2,300.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Silver Star Construction Company 👔	Fir	rst Offer - \$652.83	4 / each	\$2,611.32		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PM-031201-39 BASE BID: 451-05 (CGMP) STORM PIPE (2	24 INCHES)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$65.28	100 / linear foot	\$6,528.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$68.00	100 / linear foot	\$6,800.00		Y	
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:				
Atlas Paving Company 👔	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:				
SCHWARZ PAVING CO., INC.	First Offer - \$95.00	100 / linear foot	\$9,500.00		Y	
Product Code: Agency Notes:	· ·	Supplier Product Cod Supplier Notes:	le:			

PM-031201-40 BASE BID: 451-06 (CGMP) PREFAB END SECTION (24 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$350.00	4 / each	\$1,400.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$450.00	4 / each	\$1,800.00		Υ		

Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$550.00	4 / each	\$2,200.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$575.00	4 / each	\$2,300.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$700.00	4 / each	\$2,800.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$758.29	4 / each	\$3,033.16	Y	
		Supplier Product (Supplier Notes:	Code:		

PM-031201-41 BASE BID: 453-12 REINFORCED CONCRE	TE PIPE 18 INCHES O RIN	NG				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$68.00	100 / linear foot	\$6,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$87.38	100 / linear foot	\$8,738.00		Y	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:				
Rudy Construction Co.	First Offer - \$90.00	100 / linear foot	\$9,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$93.00	100 / linear foot	\$9,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Atlas Paving Company 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y	
		Supplier Product Co Supplier Notes:	de:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$115.00	100 / linear foot	\$11,500.00		Y	
Product Code: Agency Notes:	•	Supplier Product Co Supplier Notes:	de:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
			<u> </u>		Accers.	
T.J. Campbell Construction Co.		First Offer - \$82.00	100 / linear foot	\$8,200.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$97.92	100 / linear foot	\$9,792.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$100.00	100 / linear foot	\$10,000.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$104.00	100 / linear foot	\$10,400.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company 👔		First Offer - \$110.00	100 / linear foot	\$11,000.00		Y
Product Code:			Supplier Product Co	de:		

		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$120.00	100 / linear foot	\$12,000.00	Υ
Product Code:			Supplier Product Cod	de:	
Agency Notes:			Supplier Notes:		

PM-031201-43 BASE BID: 453-19 REINFORCED CONCRET	E PIPE END SECTION (18	INCHES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$500.00	4 / each	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,000.00	4 / each	\$4,000.00		Υ	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,100.00	4 / each	\$4,400.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,150.00	4 / each	\$4,600.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$1,416.14	4 / each	\$5,664.56		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	·		

PM-031201-44 BASE BID: 453-25 REINFORCED CONCRET	E PIPE END SECTION (24	INCHES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$650.00	4 / each	\$2,600.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$1,200.00	4 / each	\$4,800.00		Y	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,200.00	4 / each	\$4,800.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,350.00	4 / each	\$5,400.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,600.00	4 / each	\$6,400.00		Y	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:				
Silver Star Construction Company 👔	First Offer - \$1,657.18	4 / each	\$6,628.72		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PM-031201-45 BASE BID: 453-49 REINFORCED CONCRETE PIPE ARCH (22 INCHES X 13 INCHES)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company		First Offer - \$63.27	100 / linear foot	\$6,327.00		Y		
Product Code:		Supplier Product Co	de:					
Agency Notes:			Supplier Notes:					

T.J. Campbell Construction Co.	First Offer - \$93.00	100 / linear foot	\$9,300.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$102.00	100 / linear foot	\$10,200.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$105.00	100 / linear foot	\$10,500.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$125.00	100 / linear foot	\$12,500.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$130.00	100 / linear foot	\$13,000.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PM-031201-46 BASE BID: 453-50 REINFORCED CONCRETE PIPE ARCH (28 INCHES X 18 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 👔	First Offer - \$83.21	100 / linear foot	\$8,321.00		Υ			
		Supplier Product Co Supplier Notes:	de:					
T.J. Campbell Construction Co.	First Offer - \$125.00	100 / linear foot	\$12,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Rudy Construction Co.	First Offer - \$125.00	100 / linear foot	\$12,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$125.00	100 / linear foot	\$12,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Atlas Paving Company 👔	First Offer - \$135.00	100 / linear foot	\$13,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
SCHWARZ PAVING CO., INC.	First Offer - \$140.00	100 / linear foot	\$14,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	·				

PM-0312-01-47 BASE BID: 453-54 REINFORCED CONCRETE PIPE ARCH END SECTION (28 INCHES X 18 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$750.00	4 / each	\$3,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co.	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
T.J. Campbell Construction Co.	First Offer - \$1,400.00	4 / each	\$5,600.00		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,400.00	4 / each	\$5,600.00		Y			

Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$1,657.18	4 / each	\$6,628.72	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PM-031201-48 BASE BID: 453-58 REINFORCED CONCRETE PIPE ARCH END SECTION (22 INCHES X 13 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$650.00	4 / each	\$2,600.00		Y		
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,000.00	4 / each	\$4,000.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Rudy Construction Co.	First Offer - \$1,100.00	4 / each	\$4,400.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	4 / each	\$6,000.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$1,700.00	4 / each	\$6,800.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Silver Star Construction Company 👔	First Offer - \$1,807.83	4 / each	\$7,231.32		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				

PM-031201-49 BASE BID: 454-34 DESIGN 2-0 INLET COM	PLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$1,000.00	10 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$3,000.00	10 / each	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$3,000.00	10 / each	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,200.00	10 / each	\$32,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$3,300.00	10 / each	\$33,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$4,911.27	10 / each	\$49,112.70		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-031201-50 BASE BID: 454-37 DESIGN 2-1 INLET COMPLETE IN PLACE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$1,500.00	5 / each	\$7,500.00		Y		
Product Code:		Supplier Product (Code:				

Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$3,500.00	5 / each	\$17,500.00	Υ
Product Code:		Supplier Product 0	Code:	·
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$4,000.00	5 / each	\$20,000.00	Y
Product Code:		Supplier Product 0	Code:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$4,000.00	5 / each	\$20,000.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,000.00	5 / each	\$20,000.00	Y
Product Code:		Supplier Product 0	Code:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$5,734.84	5 / each	\$28,674.20	Y
Product Code:		Supplier Product 0	Code:	
Agency Notes:		Supplier Notes:		

PM-031201-51 BASE BID: 454-38 DESIGN 2-2 INLET COM	PLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$2,000.00	5 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$4,500.00	5 / each	\$22,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,800.00	5 / each	\$24,000.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$5,000.00	5 / each	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$5,500.00	5 / each	\$27,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$7,040.50	5 / each	\$35,202.50		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PM-031201-52 BASE BID: 454-45 DESIGN 2-3 INLET COMPLETE IN PLACE							
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$2,500.00	5 / each		\$12,500.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.		First Offer - \$5,500.00	5 / each		\$27,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	Τ	First Offer - \$5,800.00	5 / each		\$29,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.		First Offer - \$6,000.00	5 / each		\$30,000.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			

T.J. Campbell Construction Co.	First Offer - \$7,500.00	5 / each	\$37,500.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$8,416.01	5 / each	\$42,080.05	Υ	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

PM-031201-53 BASE BID: 454-50 RECESS DESIGN 2-0 I	NLET COMPLETE IN PLACE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3,000.00	5 / each	\$15,000.00		Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$4,000.00	5 / each	\$20,000.00		Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
Rudy Construction Co.	First Offer - \$4,300.00	5 / each	\$21,500.00		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$4,500.00	5 / each	\$22,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$4,946.43	5 / each	\$24,732.15		Y	
		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,975.00	5 / each	\$24,875.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PM-031201-54 BASE BID: 454-51 RECESS DESIGN 2-1 INL	ET COMPLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCHWARZ PAVING CO., INC.	First Offer - \$4,000.00	5 / each	\$20,000.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$4,600.00	5 / each	\$23,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co. 🙀	First Offer - \$5,100.00	5 / each	\$25,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$5,363.23	5 / each	\$26,816.15		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$5,500.00	5 / each	\$27,500.00		Y
		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,975.00	5 / each	\$29,875.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-55 BASE BID: 454-52 RECESS DESIGN 2-2 INLET COMPLETE IN PLACE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$5,000.00	5 / each	\$25,000.00		Y		

Product Code:		Supplier Product Code:			
Agency Notes:	Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$6,500.00	5 / each	\$32,500.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$6,700.00	5 / each	\$33,500.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$7,000.00	5 / each	\$35,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$7,040.50	5 / each	\$35,202.50	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,500.00	5 / each	\$37,500.00	Υ	
Product Code:		Supplier Product Code:			
		Supplier Notes:			

PM-031201-56 BASE BID: 454-53 RECESS DESIGN 2-3 INL	ET COMPLETE IN PLACE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC.	First Offer - \$6,000.00	5 / each	\$30,000.00		Y	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:				
Atlas Paving Company 👔	First Offer - \$7,500.00	5 / each	\$37,500.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$7,800.00	5 / each	\$39,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$8,416.01	5 / each	\$42,080.05		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$8,500.00	5 / each	\$42,500.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$9,000.00	5 / each	\$45,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PM-031201-57 BASE BID: 459-01 ADJUST MANHOLE TO GRADE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$900.00	20 / each	\$18,000.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$1,000.00	20 / each	\$20,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$1,000.00	20 / each	\$20,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$1,000.00	20 / each	\$20,000.00		Y				
Product Code:		Supplier Product (Code:						

Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,100.00	20 / each	\$22,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:	Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,200.00	20 / each	\$24,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

	11	0. //	T 1 D	0.44-1-		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$600.00	20 / each	\$12,000.00		Y	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$1,000.00	20 / each	\$20,000.00		Y	
Product Code:	Supplier Product (Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$1,100.00	20 / each	\$22,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,200.00	20 / each	\$24,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,400.00	20 / each	\$28,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,800.00	20 / each	\$36,000.00		Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				

PM-0312-01-59 BASE BID: 511-27 WATER METER ADJUS	ST TO GRADE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$100.00	5 / each	\$500.00		Y
		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$400.00	5 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$500.00	5 / each	\$2,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$500.00	5 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$530.00	5 / each	\$2,650.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$600.00	5 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-60 BASE BID: 511-28 WATER METER BOX ADJUST TO GRADE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Atlas Paving Company 👔		First Offer - \$100.00	5 / each	\$500.00		Y	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$475.00	5 / each	\$2,375.00		Υ	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$500.00	5 / each	\$2,500.00		Y	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$500.00	5 / each	\$2,500.00		Υ	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$530.00	5 / each	\$2,650.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$600.00	5 / each	\$3,000.00		Y	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				

PM-031201-61 BASE BID: 512-01 METER RELOCATION (1	INCH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$100.00	5 / each	\$500.00		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:	·		
T.J. Campbell Construction Co.	First Offer - \$1,000.00	5 / each	\$5,000.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	5 / each	\$7,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,500.00	5 / each	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$2,000.00	5 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$5,523.93	5 / each	\$27,619.65		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-031201-62 BASE BID: 516-02 RELOCATE FIRE HYDRANT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$3,000.00	1 / each	\$3,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$7,000.00	1 / each	\$7,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:	Supplier Notes:						
Rudy Construction Co.	First Offer - \$8,000.00	1 / each	\$8,000.00		Y		
Product Code:		Supplier Product Code:					
i i dudet code.							
Agency Notes:		Supplier Notes:					

		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$9,000.00	1 / each	\$9,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$13,000.00	1 / each	\$13,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PM-031201-63 BASE BID: 520-03 VALVE BOX ADJUST TO	GRADE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$652.83	20 / each	\$13,056.60		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$800.00	20 / each	\$16,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$800.00	20 / each	\$16,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$900.00	20 / each	\$18,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$950.00	20 / each	\$19,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 🙀	First Offer - \$1,000.00	20 / each	\$20,000.00		Y	
		Supplier Product Code: Supplier Notes:				

PM-031201-64 BASE BID: 520-15 WATER VALVE BOX						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$250.00	20 / each	\$5,000.00		Υ
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$361.57	20 / each	\$7,231.40		Υ
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$400.00	20 / each	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$425.00	20 / each	\$8,500.00		Υ
		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$500.00	20 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$500.00	20 / each	\$10,000.00		Υ
		Supplier Product Code: Supplier Notes:				

PM-0312-01-65 BASE BID: 520-16 WATER METER BOX (TRAFFIC TYPE)							

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$100.00	5 / each	\$500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$350.00	5 / each	\$1,750.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$425.00	5 / each	\$2,125.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$500.00	5 / each	\$2,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company		First Offer - \$500.00	5 / each	\$2,500.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	П	First Offer - \$500.00	5 / each	\$2,500.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PM-031201-66 BASE BID: 713-00 3 INCH GALVANIZED S	TEEL CONDUIT (INSTAL	LED WITH ONE HOLE I	MALLIBLE STRAPS)	ı		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$52.50	100 / linear foot	\$5,250.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Atlas Paving Company 👔	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	·		
Silver Star Construction Company 👔	First Offer - \$60.26	100 / linear foot	\$6,026.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$63.00	100 / linear foot	\$6,300.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$66.00	100 / linear foot	\$6,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.	First Offer - \$70.00	100 / linear foot	\$7,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

PM-031201-67 BASE BID: 713-08 2 INCH TRAFFIC SIGNA	AL	CONDUIT (TRENCHE	D)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$20.09	100 / linear foot	\$2,009.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$21.00	100 / linear foot	\$2,100.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
	\top					

Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$22.00	100 / linear foot	\$2,200.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$23.00	100 / linear foot	\$2,300.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$23.00	100 / linear foot	\$2,300.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

PM-031201-68 BASE BID: 713-09 2 INCH TRAFFIC SIGN	AL CONDUIT (BORED)					
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$31.50	100 / linear foot	\$3,150.00		Y	
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:				
Atlas Paving Company 👔	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Silver Star Construction Company	First Offer - \$35.15	100 / linear foot	\$3,515.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$36.80	100 / linear foot	\$3,680.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$38.50	100 / linear foot	\$3,850.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
T.J. Campbell Construction Co.	First Offer - \$41.00	100 / linear foot	\$4,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			

PM-031201-69 BASE BID: 713-10 3 INCH TRAFFIC SIGNA	L CONDUIT (TRENCHE	D)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company 👔	First Offer - \$20.09	100 / linear foot	\$2,009.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$21.00	100 / linear foot	\$2,100.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e :		
SCHWARZ PAVING CO., INC.	First Offer - \$21.00	100 / linear foot	\$2,100.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e :		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$22.00	100 / linear foot	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$23.00	100 / linear foot	\$2,300.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PM-031201-70 BASE BID: 713-11 3 INCH TRAFFIC SI	GNAL	. CONDUIT (BORED)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$50.00	100 / linear foot	\$5,000.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$50.22	100 / linear foot	\$5,022.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$52.50	100 / linear foot	\$5,250.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$52.50	100 / linear foot	\$5,250.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$55.00	100 / linear foot	\$5,500.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$59.00	100 / linear foot	\$5,900.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

PM-031201-71 BASE BID: 714-01 TWO CONDUCTOR SHIE	LDED LOOP DETECTO	OR LEAD-IN CABLE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$5.00	100 / linear foot	\$500.00		Y
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:			
Silver Star Construction Company	First Offer - \$5.02	100 / linear foot	\$502.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$5.30	100 / linear foot	\$530.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$5.50	100 / linear foot	\$550.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.50	100 / linear foot	\$550.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$6.00	100 / linear foot	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PM-031201-72 BASE BID: 714-02 LOOP DETECTOR WIRE	(AWG 14)(TYPE XHHV	V)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$6.00	1200 / linear foot	\$7,200.00		Υ
Product Code:	Supplier Product Code	:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	1200 / linear foot	\$7,200.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$6.03	1200 / linear foot	\$7,236.00		Y
Product Code:		Supplier Product Code	:		

Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$6.30	1200 / linear foot	\$7,560.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.60	1200 / linear foot	\$7,920.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$7.00	1200 / linear foot	\$8,400.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

PM-031201-73 BASE BID: 714-04 5C CONDUCTOR 1	RAFFIC SIGNAL ELECTRICA	AL CABLE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$6.00	2000 / linear foot	\$12,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	2000 / linear foot	\$12,000.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$6.03	2000 / linear foot	\$12,060.00		Υ		
Product Code:		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					
Rudy Construction Co. 🙀	First Offer - \$6.30	2000 / linear foot	\$12,600.00		Υ		
Product Code:		Supplier Product Code					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.60	2000 / linear foot	\$13,200.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$7.00	2000 / linear foot	\$14,000.00		Υ		
Product Code:		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					

PM-031201-74 BASE BID: 714-05 7C CONDUCTOR TRA	FFI	C SIGNAL ELECTRICA	L CABLE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀		First Offer - \$7.00	500 / linear foot	\$3,500.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$7.03	500 / linear foot	\$3,515.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$7.40	500 / linear foot	\$3,700.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$7.50	500 / linear foot	\$3,750.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$7.70	500 / linear foot	\$3,850.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$8.00	500 / linear foot	\$4,000.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

PM-031201-75 BASE BID: 714-06 10C CONDUCTOR TRAI	FF	IC SIGNAL ELECTRICA	AL CABLE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$8.00	100 / linear foot	\$800.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Silver Star Construction Company		First Offer - \$8.03	100 / linear foot	\$803.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.		First Offer - \$8.40	100 / linear foot	\$840.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$8.50	100 / linear foot	\$850.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$8.80	100 / linear foot	\$880.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
T.J. Campbell Construction Co.		First Offer - \$9.00	100 / linear foot	\$900.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		

PM-031201-76 BASE BID: 714-07 15C CONDUCTOR TRAI	FFIC SIGNAL ELECTRICA	AL CABLE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$9.00	100 / linear foot	\$900.00		Υ
		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company 👔	First Offer - \$9.04	100 / linear foot	\$904.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Rudy Construction Co.	First Offer - \$9.50	100 / linear foot	\$950.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$9.50	100 / linear foot	\$950.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$9.90	100 / linear foot	\$990.00		Υ
		Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.	First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PM-031201-77 BASE BID: 714-08 18C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$10.04	100 / linear foot	\$1,004.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
	First Offer - \$10.50	100 / linear foot	\$1,050.00		Y			

Rudy Construction Co.						
			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ
			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ
			Supplier Product Coc Supplier Notes:	le:		

PM-031201-78 BASE BID: 714-09 21C CONDUCTOR TR	AFF	IC SIGNAL ELECTRICA	AL CABLE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$12.00	100 / linear foot	\$1,200.00		Y
		Supplier Product Coo Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.		First Offer - \$12.00	100 / linear foot	\$1,200.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Silver Star Construction Company 👔		First Offer - \$12.05	100 / linear foot	\$1,205.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$12.60	100 / linear foot	\$1,260.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$13.20	100 / linear foot	\$1,320.00		Υ
		Supplier Product Coo Supplier Notes:	le:			
T.J. Campbell Construction Co.		First Offer - \$14.00	100 / linear foot	\$1,400.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		

PM-031201-79 BASE BID: 714-10 (1 CONDUCTOR)(AWG	iN	O. 6) ELECTRICAL CO	NDUCTOR			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$3.00	500 / linear foot	\$1,500.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company		First Offer - \$3.01	500 / linear foot	\$1,505.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Rudy Construction Co.		First Offer - \$3.20	500 / linear foot	\$1,600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	T	First Offer - \$3.25	500 / linear foot	\$1,625.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.30	500 / linear foot	\$1,650.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.	T	First Offer - \$3.50	500 / linear foot	\$1,750.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PM-031201-80 BASE BID: 714-11 (1 CONDUCTOR)(AWG	NO. 10) ELECTRICAL C	ONDUCTOR			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$3.00	500 / linear foot	\$1,500.00		Y
		Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company	First Offer - \$3.01	500 / linear foot	\$1,505.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:	·		
Rudy Construction Co.	First Offer - \$3.20	500 / linear foot	\$1,600.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$3.25	500 / linear foot	\$1,625.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.30	500 / linear foot	\$1,650.00		Υ
		Supplier Product Cod Supplier Notes:	e :		
T.J. Campbell Construction Co.	First Offer - \$3.50	500 / linear foot	\$1,750.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PM-031201-81 BASE BID: 717-03 PEDESTRIAN SIGNAL HI	EAD (1 WAY 2 SEC.ADJ SIG	i.HD. (S-20))				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$860.00	16 / each	\$13,760.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$863.74	16 / each	\$13,819.84		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$900.00	16 / each	\$14,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$900.00	16 / each	\$14,400.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$946.00	16 / each	\$15,136.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,000.00	16 / each	\$16,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PM-0312-01-82 BASE BID: 722-00 PEDESTRIAN PUSH BUTTON AND SIGN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$1,200.00	16 / each	\$19,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,205.22	16 / each	\$19,283.52		Υ			
Product Code:		Supplier Product (Code:					

Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,250.00	16 / each	\$20,000.00	Y	
Product Code:	Supplier Product (Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$1,260.00	16 / each	\$20,160.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,320.00	16 / each	\$21,120.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,400.00	16 / each	\$22,400.00	Υ	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

PM-031201-83 BASE BID: 722-03 PEDESTRIAN PUSH BUT	TON- CENTRAL CONTRO	L UNIT			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$4,500.00	2 / each	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$4,519.58	2 / each	\$9,039.16		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$4,700.00	2 / each	\$9,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$4,730.00	2 / each	\$9,460.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,950.00	2 / each	\$9,900.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$5,300.00	2 / each	\$10,600.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-84 BASE BID: 724-67 PEDESTAL POLE W/5	FC	OT MOUNTING HEIGHT				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$1,500.00	8 / each	\$12,000.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔		First Offer - \$1,506.53	8 / each	\$12,052.24		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		•
Rudy Construction Co.		First Offer - \$1,580.00	8 / each	\$12,640.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	Т	First Offer - \$1,600.00	8 / each	\$12,800.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1,650.00	8 / each	\$13,200.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
	T					

T.J. Campbell Construction Co.	First Offer - \$1,700.00	8 / each	\$13,600.00	Υ
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		

PM-031201-85 BASE BID: 724-68 PEDESTAL POLE W/10 F	OOT MOUNTING HEIGHT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$1,700.00	8 / each	\$13,600.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$1,707.40	8 / each	\$13,659.20		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$1,790.00	8 / each	\$14,320.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,800.00	8 / each	\$14,400.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,870.00	8 / each	\$14,960.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$2,000.00	8 / each	\$16,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PM-031201-86 BASE BID: 726-00 PULL BOX TYPE I						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$1,400.00	2 / each	\$2,800.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,400.00	2 / each	\$2,800.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$1,406.09	2 / each	\$2,812.18		Y	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,470.00	2 / each	\$2,940.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,540.00	2 / each	\$3,080.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,600.00	2 / each	\$3,200.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PM-0312-01-87 BASE BID: 726-01 PULL BOX TYPE II						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1,750.00	2 / each	\$3,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$1,757.62	2 / each	\$3,515.24		Y	

		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$1,800.00	2 / each	\$3,600.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	·	
Rudy Construction Co.	First Offer - \$1,840.00	2 / each	\$3,680.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,925.00	2 / each	\$3,850.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-88 BASE BID: 726-04 PULL BOX ADJUSTMENT	Г					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$1,250.00	2 / each	\$2,500.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$1,255.44	2 / each	\$2,510.88		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,300.00	2 / each	\$2,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,320.00	2 / each	\$2,640.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,375.00	2 / each	\$2,750.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,400.00	2 / each	\$2,800.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PM-031201-89 BASE BID: 729-10 REMOVE AND RELOCAT	TE SIGN					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$451.96	4 / each	\$1,807.84		Y	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$480.00	4 / each	\$1,920.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$495.00	4 / each	\$1,980.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	4 / each	\$2,000.00		Y	
Product Code: Agency Notes:	•	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$530.00	4 / each	\$2,120.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

Atlas Paving Company 🙀	First Offer - \$1,500.00	4 / each	\$6,000.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PM-031201-90 BASE BID: 735-00 TRAFFIC STRIPE (4 IN	CH WIDE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$0.75	40000 / linear foot	\$30,000.00		Y		
		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$0.75	40000 / linear foot	\$30,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:				
Rudy Construction Co.	First Offer - \$0.80	40000 / linear foot	\$32,000.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$0.80	40000 / linear foot	\$32,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.83	40000 / linear foot	\$33,200.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:				
T.J. Campbell Construction Co.	First Offer - \$0.85	40000 / linear foot	\$34,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	•				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$75.00	20 / each	\$1,500.00		Υ
		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$75.33	20 / each	\$1,506.60		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co. 👔	First Offer - \$80.00	20 / each	\$1,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$82.50	20 / each	\$1,650.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$88.00	20 / each	\$1,760.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$100.00	20 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-92 BASE BID: 735-06 TRAFFIC STRIPE (PLASTIC) (SYMBOLS) (SHARROW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$700.00	10 / each	\$7,000.00		Y			
Product Code:		Supplier Product 0	Code:					
Agency Notes:		Supplier Notes:						
	First Offer - \$720.00	10 / each	\$7,200.00		Y			

Atlas Paving Company 🙀						
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$723.13	10 / each	\$7,231.30		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$760.00	10 / each	\$7,600.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$792.00	10 / each	\$7,920.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$850.00	10 / each	\$8,500.00		Υ
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			

PM-031201-93 BASE BID: 735-07 TRAFFIC STRIPE (8 INCH	H WIDE)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1.25	2000 / linear foot	\$2,500.00		Y	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$1.26	2000 / linear foot	\$2,520.00		Y	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1.30	2000 / linear foot	\$2,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.38	2000 / linear foot	\$2,760.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1.50	2000 / linear foot	\$3,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1.50	2000 / linear foot	\$3,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-031201-94 BASE BID: 735-08 TRAFFIC STRIPE (12 INC	CH WIDE)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1.50	2000 / linear foot	\$3,000.00		Y	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$1.51	2000 / linear foot	\$3,020.00		Y	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$1.60	2000 / linear foot	\$3,200.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.65	2000 / linear foot	\$3,300.00		Υ	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1.75	2000 / linear foot	\$3,500.00		Υ	

Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	2000 / linear foot	\$4,000.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

PM-031201-95 BASE BID: 735-09 TRAFFIC STRIPE (24 INC	H WIDE)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$12.00	1000 / linear foot	\$12,000.00		Y	
		Supplier Product Code Supplier Notes:	e:			
Silver Star Construction Company	First Offer - \$12.05	1000 / linear foot	\$12,050.00		Υ	
		Supplier Product Code Supplier Notes:	e:			
Rudy Construction Co.	First Offer - \$12.60	1000 / linear foot	\$12,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$13.20	1000 / linear foot	\$13,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.	First Offer - \$14.00	1000 / linear foot	\$14,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	1000 / linear foot	\$15,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

PM-031201-96 BASE BID: 735-11 TRAFFIC STRIPE (PLASTI	C) (SYMBOLS) (RR TRACK	(S)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$850.00	6 / each	\$5,100.00		Y
		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$850.00	6 / each	\$5,100.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$853.70	6 / each	\$5,122.20		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$900.00	6 / each	\$5,400.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$935.00	6 / each	\$5,610.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,000.00	6 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-97 BASE BID: 738-08 REMOVE TRAFFIC MARKING (4 INCH WIDE STRIPE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Y		
Product Code:		Supplier Product Code	2:				

Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	1000 / linear foot	\$2,000.00	Y	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$2.01	1000 / linear foot	\$2,010.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$2.10	1000 / linear foot	\$2,100.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.20	1000 / linear foot	\$2,200.00	Υ	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2.35	1000 / linear foot	\$2,350.00	Y	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PM-031201-98 BASE BID: 745-01 RADAR DETECTION	N SYSTEM (ADVANCE SENSOR:	S)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$8,120.00	8 / each	\$64,960.00		Υ	
		Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$8,155.33	8 / each	\$65,242.64		Y	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$8,200.00	8 / each	\$65,600.00		Υ	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$8,600.00	8 / each	\$68,800.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,932.00	8 / each	\$71,456.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$9,600.00	8 / each	\$76,800.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PM-031201-99 BASE BID: 745-02 RADAR DETECTION SYS	STEM (PRESENCE SENSOR	S)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$7,780.00	8 / each	\$62,240.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$7,813.85	8 / each	\$62,510.80		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$8,000.00	8 / each	\$64,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$8,170.00	8 / each	\$65,360.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,558.00	8 / each	\$68,464.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$9,100.00	8 / each	\$72,800.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

PM-031201-100 BASE BID: 745-04 RADAR CABINET IN	TERFACE (MODEL 656 6 SEN	ISORS)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$7,250.00	4 / each	\$29,000.00		Y		
		Supplier Product (Supplier Notes:	Code:				
Silver Star Construction Company 👔	First Offer - \$7,281.54	4 / each	\$29,126.16		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$7,400.00	4 / each	\$29,600.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$7,600.00	4 / each	\$30,400.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,975.00	4 / each	\$31,900.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$8,500.00	4 / each	\$34,000.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				

PM-031201-101 BASE BID: 745-05 RADAR DETECTOR (CAB	LE					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$5.00	4000 / linear foot	\$20,000.00		Y	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$5.02	4000 / linear foot	\$20,080.00		Y	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$5.25	4000 / linear foot	\$21,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$5.25	4000 / linear foot	\$21,000.00		Y	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.50	4000 / linear foot	\$22,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$5.75	4000 / linear foot	\$23,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

PM-031201-102 BASE BID: 745-06 SWITCH FOR EXISTING TRAFFIC CONTROL CABINET							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$1,800.00	2 / each	\$3,600.00		Υ		

Product Code: Su		Supplier Product Code:		
Agency Notes:				
First Offer - \$1,807.83	2 / each	\$3,615.66	Υ	
	Supplier Product (Code:		
	Supplier Notes:			
First Offer - \$1,900.00	2 / each	\$3,800.00	Y	
Product Code:				
	Supplier Notes:			
First Offer - \$1,900.00	2 / each	\$3,800.00	Υ	
	Supplier Product (Code:		
	Supplier Notes:			
First Offer - \$1,980.00	2 / each	\$3,960.00	Υ	
	Supplier Product (Code:		
	Supplier Notes:			
First Offer - \$2,000.00	2 / each	\$4,000.00	Y	
	Supplier Product (Code:		
	Supplier Notes:			
	First Offer - \$1,900.00 First Offer - \$1,900.00 First Offer - \$1,980.00	Supplier Notes: 2 / each Supplier Product (Supplier Notes: First Offer - \$1,900.00 2 / each Supplier Product (Supplier Notes: Supplier Product (Supplier Notes: First Offer - \$1,900.00 2 / each Supplier Product (Supplier Notes: First Offer - \$1,980.00 2 / each Supplier Product (Supplier Notes: First Offer - \$2,000.00 2 / each Supplier Product (Supplier Product (Supplier Notes: Supplier Product (Supplier Produ	First Offer - \$1,807.83 2 / each \$3,615.66 Supplier Product Code: Supplier Notes: First Offer - \$1,900.00 2 / each \$3,800.00 Supplier Product Code: Supplier Notes: First Offer - \$1,900.00 2 / each \$3,800.00 Supplier Product Code: Supplier Product Code: Supplier Notes: First Offer - \$1,980.00 2 / each \$3,960.00 Supplier Product Code: Supplier Notes: First Offer - \$2,000.00 2 / each \$4,000.00 Supplier Product Code:	

PM-031201-103 BASE BID: 801-05 SURVEY CREW (TWO N	ЛAN)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$130.00	20 / hour	\$2,600.00		Y
		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$155.00	20 / hour	\$3,100.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co. 🙀	First Offer - \$175.00	20 / hour	\$3,500.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$175.76	20 / hour	\$3,515.20		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$200.00	20 / hour	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$250.00	20 / hour	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-104 BASE BID: 810-00 CLEARING AND GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$4,500.00	2 / acre	\$9,000.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Atlas Paving Company 👔	First Offer - \$5,000.00	2 / acre	\$10,000.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,500.00	2 / acre	\$11,000.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
Rudy Construction Co.	First Offer - \$7,000.00	2/acre	\$14,000.00		Y				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

SCHWARZ PAVING CO., INC.	First Offer - \$7,800.00	2 / acre	\$15,600.00		Y
		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$9,700.00	2 / acre	\$19,400.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-105 BASE BID: 811-11 STRUCTURE REMOVAI	(ALL STORM SEWER INL	ETS)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$798.46	10 / each	\$7,984.60		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,200.00	10 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$2,500.00	10 / each	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,500.00	10 / each	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$4,000.00	10 / each	\$40,000.00		Y
		Supplier Product C Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$5,000.00	10 / each	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-031201-106 BASE BID: 812-01 REMOVE SIDEWALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$12.05	250 / square yard	\$3,012.50		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
T.J. Campbell Construction Co.	First Offer - \$15.00	250 / square yard	\$3,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co. 🙀	First Offer - \$15.00	250 / square yard	\$3,750.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$16.50	250 / square yard	\$4,125.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$18.00	250 / square yard	\$4,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company 👔	First Offer - \$25.00	250 / square yard	\$6,250.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	·	

PM-0312-01-107 BASE BID: 812-02 REMOVE CURB AND GUTTER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
	First Offer - \$10.00	2000 / linear foot	\$20,000.00		Y		

Silver Star Construction Company							
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company 🙀		First Offer - \$12.00	2000 / linear foot	\$24,000.00		Υ	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$12.00	2000 / linear foot	\$24,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$12.00	2000 / linear foot	\$24,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$15.00	2000 / linear foot	\$30,000.00		Y	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$16.00	2000 / linear foot	\$32,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
<u> </u>							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$12.00		\$24,000.00		Y
Product Code:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$13.56	2000 / square yard	\$27,120.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$15.00	2000 / square yard	\$30,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	2000 / square yard	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$17.00	2000 / square yard	\$34,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$18.00	2000 / square yard	\$36,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-031201-109 BASE BID: 813-00 REMOVE DRIVEWAY					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$13.56	200 / square yard	\$2,712.00		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:			
Rudy Construction Co.	First Offer - \$15.00	200 / square yard	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
Atlas Paving Company 👔	First Offer - \$25.00	200 / square yard	\$5,000.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$25.00	200 / square yard	\$5,000.00		Y

Agency Notes: Sup		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$25.00	200 / square yard	\$5,000.00		Υ	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$25.00	200 / square yard	\$5,000.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				

PM-031201-110 BASE BID: 818-04 PAVEMENT REPAIR (6 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$55.00	8000 / square yard	\$440,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$55.00	8000 / square yard	\$440,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$56.00	8000 / square yard	\$448,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company 👔	First Offer - \$58.00	8000 / square yard	\$464,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$62.00	8000 / square yard	\$496,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$81.62	8000 / square yard	\$652,960.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PM-031201-111 BASE BID: 818-05 PAVEMENT REPAIR (8 INCHES)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$65.00	4000 / square yard	\$260,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$65.00	4000 / square yard	\$260,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$65.00	4000 / square yard	\$260,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$65.00	4000 / square yard	\$260,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$65.11	4000 / square yard	\$260,440.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$76.00	4000 / square yard	\$304,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PM-031201-112 BASE BID: 819-03 ADJUST EXISTING STF	RUCTURE (2-0 INLET REPAI	R)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$853.70	2 / each	\$1,707.40		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,800.00	2 / each	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$2,800.00	2 / each	\$5,600.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,700.00	2 / each	\$7,400.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-113 BASE BID: 819-04 ADJUST EXISTING ST	RUCTURE (2-1 INLET REPAI	IR)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$999.33	2 / each	\$1,998.66		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co. 👔	First Offer - \$2,100.00	2 / each	\$4,200.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	iode:		
T.J. Campbell Construction Co.	First Offer - \$2,300.00	2 / each	\$4,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Atlas Paving Company 👔	First Offer - \$2,500.00	2 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,800.00	2 / each	\$5,600.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,900.00	2 / each	\$7,800.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PM-031201-114 BASE BID: 819-10 STORM SEWER CAST I	OD REPLACEMENT						
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$350.00	20 / each		\$7,000.00		Y
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$351.52	20 / each		\$7,030.40		Y
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$450.00	20 / each		\$9,000.00		Y
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
	П						

SCHWARZ PAVING CO., INC.	First Offer - \$450.00	20 / each	\$9,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Atlas Paving Company 👔	First Offer - \$500.00	20 / each	\$10,000.00	Y
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$500.00	20 / each	\$10,000.00	Y
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

PM-031201-115 BASE BID: 819-16 ADJUST EXISTING STR	UCTURE (2-2 INLET REPAI	IR)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$1,305.66	2 / each	\$2,611.32		Υ	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	2 / each	\$4,000.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$2,200.00	2 / each	\$4,400.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$2,700.00	2 / each	\$5,400.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Atlas Paving Company 👔	First Offer - \$3,000.00	2 / each	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,100.00	2 / each	\$8,200.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PM-031201-116 BASE BID: 819-17 ADJUST EXISTING STF	RUCTURE (2-3 INLET REPAI	R)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$1,657.18	2 / each	\$3,314.36		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$2,200.00	2 / each	\$4,400.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$2,300.00	2 / each	\$4,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$3,000.00	2 / each	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$3,000.00	2 / each	\$6,000.00		Υ	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,300.00	2 / each	\$8,600.00		Υ	
		Supplier Product C Supplier Notes:	Code:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$350.00	20 / each	\$7,000.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$400.00	20 / each	\$8,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company 🙀	First Offer - \$401.74	20 / each	\$8,034.80		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$500.00	20 / each	\$10,000.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$500.00	20 / each	\$10,000.00		Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$600.00	20 / each	\$12,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PM-0312-01-118 BASE BID: 819-21 STORM SEWER CAST FF	AME REPLACEMENT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$300.00	10 / each	\$3,000.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$400.00	10 / each	\$4,000.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company 🙀	First Offer - \$401.74	10 / each	\$4,017.40		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$450.00	10 / each	\$4,500.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$500.00	10 / each	\$5,000.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$800.00	10 / each	\$8,000.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PM-031201-119 BASE BID: 820-00 SAWCUT PAVEMENT (LOOPS)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 👔	First Offer - \$4.00	3000 / linear foot	\$12,000.00		Y					
Product Code:	Supplier Product Code	: :								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$4.02	3000 / linear foot	\$12,060.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$4.20	3000 / linear foot	\$12,600.00		Y					
Product Code:		Supplier Product Code:								

Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$4.40	3000 / linear foot	\$13,200.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$4.50	3000 / linear foot	\$13,500.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$4.50	3000 / linear foot	\$13,500.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

PM-031201-120 BASE BID: 820-01 SAWCUT PAVEMENT	(0 INCHES TO SIX INCI	HES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1.00	1000 / linear foot	\$1,000.00		Y	
		Supplier Product Code Supplier Notes:	:			
T.J. Campbell Construction Co.	First Offer - \$3.25	1000 / linear foot	\$3,250.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	:				
Rudy Construction Co.	First Offer - \$3.50	1000 / linear foot	\$3,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$3.52	1000 / linear foot	\$3,520.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Y	
		Supplier Product Code Supplier Notes:	:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ	
		Supplier Product Code Supplier Notes:	:			

PM-031201-121 BASE BID: 822-01 GEO-COMPOSITE	FABR	IC MEMBRANE (2 FE	ET WIDE)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$2.50	1000 / linear foot	\$2,500.00		Y	
Product Code:			Supplier Product Code:	:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$4.00	1000 / linear foot	\$4,000.00		Y	
Product Code:			Supplier Product Code:	:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$4.43	1000 / linear foot	\$4,430.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$4.50	1000 / linear foot	\$4,500.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$4.50	1000 / linear foot	\$4,500.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

PM-031201-122 BASE BID: 823-00 SIDEWALK						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$68.00	200 / square yard	\$13,600.00		Υ	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:				
Atlas Paving Company 👔	First Offer - \$75.00	200 / square yard	\$15,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:				
Rudy Construction Co.	First Offer - \$75.00	200 / square yard	\$15,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$75.00	200 / square yard	\$15,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
Silver Star Construction Company 👔	First Offer - \$75.33	200 / square yard	\$15,066.00		Y	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	::				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$80.00	200 / square yard	\$16,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			

PM-031201-123 BASE BID: 823-03 6 INCH P.C. CONC.	DRIVEWAY (3000 PSI HES))			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$85.37	200 / square yard	\$17,074.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$90.00	200 / square yard	\$18,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
T.J. Campbell Construction Co.	First Offer - \$94.00	200 / square yard	\$18,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co. 👔	First Offer - \$95.00	200 / square yard	\$19,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Atlas Paving Company 👔	First Offer - \$100.00	200 / square yard	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$110.00	200 / square yard	\$22,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

PM-0312-01-124 BASE BID: 823-11 8 INCH P.C. CONC. DRIVEWAY (3000 PSI HES)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Silver Star Construction Company	First Offer - \$90.39	200 / square yard	\$18,078.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	200 / square yard	\$20,000.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
	First Offer - \$105.00	200 / square yard	\$21,000.00		Y					

Rudy Construction Co.					
			Supplier Product Code Supplier Notes:	e:	
Atlas Paving Company 🙀		First Offer - \$115.00	200 / square yard	\$23,000.00	Y
			Supplier Product Code Supplier Notes:	e:	
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$115.00	200 / square yard	\$23,000.00	Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:	
T.J. Campbell Construction Co.		First Offer - \$118.00	200 / square yard	\$23,600.00	Υ
			Supplier Product Code Supplier Notes:	:	

PM-031201-125 BASE BID: 823-12 10 INCH P.C. CON	C. DRIVEWAY (3000 PSI HE	S)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$99.43	200 / square yard	\$19,886.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$110.00	200 / square yard	\$22,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$115.00	200 / square yard	\$23,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Atlas Paving Company 👔	First Offer - \$125.00	200 / square yard	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$125.00	200 / square yard	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$144.00	200 / square yard	\$28,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$5.00	100 / linear foot	\$500.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
Rudy Construction Co. 🙀		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
			Supplier Product Coo Supplier Notes:	de:		
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
T.J. Campbell Construction Co.		First Offer - \$21.00	100 / linear foot	\$2,100.00		Υ
			Supplier Product Coo Supplier Notes:	de:		
Silver Star Construction Company 🔓		First Offer - \$35.15	100 / linear foot	\$3,515.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PM-031201-127 BASE BID: 826-08 PERFORATED PIPE UN	DERDRAIN (6 INCH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company	First Offer - \$35.15	100 / linear foot	\$3,515.00		Y
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
T.J. Campbell Construction Co.	First Offer - \$42.00	100 / linear foot	\$4,200.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PM-031201-128 BASE BID: 826-09 NON-PERFORATED	PIPE UNDERDRAIN (6 IN	CH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:				
Rudy Construction Co. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$35.15	100 / linear foot	\$3,515.00		Y	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:				
T.J. Campbell Construction Co.	First Offer - \$42.00	100 / linear foot	\$4,200.00		Υ	
		Supplier Product Code Supplier Notes:	e:			

PM-031201-129 BASE BID: 827-22 GUARDRAIL END TREATMENT (ODOT DETAIL T-602)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
SCHWARZ PAVING CO., INC.	First Offer - \$4,500.00	6 / each	\$27,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Atlas Paving Company 👔	First Offer - \$5,775.00	6 / each	\$34,650.00		Υ					
Product Code:		Supplier Product (Code:							

Agency Notes:	Supplier Notes:			
Rudy Construction Co.	First Offer - \$6,500.00	6 / each	\$39,000.00	Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$6,528.28	6 / each	\$39,169.68	Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:	·	
T.J. Campbell Construction Co.	First Offer - \$6,800.00	6 / each	\$40,800.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,150.00	6 / each	\$42,900.00	Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:		

PM-031201-130 BASE BID: 827-23 W-BEAM-TYPE GUA	RDRAIL (SINGLE)(ODOT [DETAILS T-605 AND 60)6)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$35.00	300 / linear foot	\$10,500.00		Y	
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:				
Silver Star Construction Company 👔	First Offer - \$35.15	300 / linear foot	\$10,545.00		Y	
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:				
Rudy Construction Co.	First Offer - \$38.00	300 / linear foot	\$11,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$38.25	300 / linear foot	\$11,475.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$38.50	300 / linear foot	\$11,550.00		Υ	
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:				
T.J. Campbell Construction Co.	First Offer - \$45.00	300 / linear foot	\$13,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			

PM-0312-01-131 BASE BID: 828-09 REMOVE AND RESET FENCE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y				
Product Code:	Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y				
Product Code:	Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$40.00	100 / linear foot	\$4,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$40.00	100 / linear foot	\$4,000.00		Υ				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

Silver Star Construction Company	First Offer - \$94.41	100 / linear foot	\$9,441.00	Y
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		

Cumpling	Unit Pr	co Otr/Unit	Total Drice	Attab	Doss	
Supplier			Total Price	Attch.	Docs	
Rudy Construction Co. 👔	First Offer - \$8	00 250 / linear fo	ot \$2,000.00		Y	
Product Code:		Supplier Produ	uct Code:			
Agency Notes:		Supplier Notes	s:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8	00 250 / linear fo	ot \$2,000.00		Y	
Product Code:		Supplier Produ	uct Code:			
Agency Notes:		Supplier Notes	s:			
Atlas Paving Company 👔	First Offer - \$10	00 250 / linear fo	ot \$2,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Note:	s:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$10	00 250 / linear fo	ot \$2,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Note:	s:			
Silver Star Construction Company 👔	First Offer - \$12	05 250 / linear fo	ot \$3,012.50		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes	s:			
T.J. Campbell Construction Co.	First Offer - \$13	00 250 / linear fo	ot \$3,250.00		Υ	
Product Code:		Supplier Produ	uct Code:			
Agency Notes:		Supplier Note:	s:			

PM-031201-133 BASE BID: 830-04 TACTILE MARKERS/T	RUNCATED DOMES				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$26.17	200 / square foot	\$5,234.00		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	2:			
T.J. Campbell Construction Co.	First Offer - \$30.00	200 / square foot	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.	First Offer - \$35.00	200 / square foot	\$7,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$40.00	200 / square foot	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$45.00	200 / square foot	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Atlas Paving Company 👔	First Offer - \$50.00	200 / square foot	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:) 2:		

PM-031201-134 BASE BID: 830-09 ADA CURB RAMP (8 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Silver Star Construction Company 👔	First Offer - \$101.44	100 / square yard	\$10,144.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
	First Offer - \$155.00	100 / square yard	\$15,500.00		Y					

Atlas Paving Company 👔						
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$170.00	100 / square yard	\$17,000.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$180.00	100 / square yard	\$18,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$180.00	100 / square yard	\$18,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$215.00	100 / square yard	\$21,500.00		Υ
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			

PM-031201-135 BASE BID: 840-00 SOLID SLAB SODDIN	G				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$3.50	5000 / square yard	\$17,500.00		Y
		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$3.50	5000 / square yard	\$17,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	5000 / square yard	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.00	5000 / square yard	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$6.23	5000 / square yard	\$31,150.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$10.00	5000 / square yard	\$50,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-0312-01-136 BASE BID: 843-16 TREE REMOVAL (OVER 3 INCHES TO 12 INCHES CALIPER)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$1,300.00	1 / each	\$1,300.00		Y				
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:							
Rudy Construction Co.	First Offer - \$1,500.00	1 / each	\$1,500.00		Y				
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:							
Silver Star Construction Company	First Offer - \$1,657.18	1 / each	\$1,657.18		Y				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,800.00	1 / each	\$1,800.00		Y				
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,200.00	1 / each	\$2,200.00		Y				

Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Atlas Paving Company 👔	First Offer - \$3,000.00	1 / each	\$3,000.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		

PM-031201-137 BASE BID: 843-17 TREE REMOVAL (OVE	R 12 INCH CALIPER)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co. 👔	First Offer - \$2,000.00	1 / each	\$2,000.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$2,400.00	1 / each	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 🙀	First Offer - \$2,410.44	1 / each	\$2,410.44		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,700.00	1 / each	\$2,700.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,500.00	1 / each	\$3,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$5,000.00	1 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-138 BASE BID: 900-04 TRIANGULAR SILT DII	KES (SEE DETAIL 7.2)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$8.03	100 / linear foot	\$803.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$12.00	100 / linear foot	\$1,200.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PM-031201-139 BASE BID: 900-09 ROCK BAG SILT FENCE (SEE DETAIL 7.6)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$3.50	100 / linear foot	\$350.00		Y			
		Supplier Product Code:						

Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$6.53	100 / linear foot	\$653.00	Υ	
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$15.00	100 / linear foot	\$1,500.00	Y	
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$15.00	100 / linear foot	\$1,500.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Atlas Paving Company 👔		First Offer - \$20.00	100 / linear foot	\$2,000.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$20.00	100 / linear foot	\$2,000.00	Y	
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

PM-031201-140 BASE BID: 982-00 HANDRAIL (POWDER COATED STEEL) (3 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$115.00	100 / linear foot	\$11,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$115.00	100 / linear foot	\$11,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$147.16	100 / linear foot	\$14,716.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PM-031201-141 BASE BID: 982-01 HANDRAIL (POWDER COATED STEEL) (1 1/2 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Atlas Paving Company 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$105.00	100 / linear foot	\$10,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				

Rudy Construction Co.	First Offer - \$105.00	100 / linear foot	\$10,500.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$117.39	100 / linear foot	\$11,739.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PM-031201-142 BASE BID: 982-02 PEDESTRIAN HAN	IDRA	IL-OPTION 1 (POWDER	COATED STEEL) (1 1/2	2 INCHES)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.		First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ
			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$100.00	100 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$105.00	100 / linear foot	\$10,500.00		Y
Product Code: Agency Notes:	<u>'</u>		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$105.00	100 / linear foot	\$10,500.00		Υ
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$147.16	100 / linear foot	\$14,716.00		Y
		Supplier Product Co Supplier Notes:	de:			

PM-0312–01-143 BASE BID: 982-03 PEDESTRIAN HANDRAIL-OPTION 2 (POWDER COATED STEEL) (1 1/2 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ		
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:					
T.J. Campbell Construction Co.	First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ		
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:					
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$105.00	100 / linear foot	\$10,500.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$117.39	100 / linear foot	\$11,739.00		Y		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				

PM-0312-01-144 BASE BID: 988-01 GEOTEXTILE SEPARATOR FABRIC FOR BASES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$2.15	2500 / square yard	\$5,375.00		Y		

	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$2.55	2500 / square yard	\$6,375.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$3.00	2500 / square yard	\$7,500.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$3.50	2500 / square yard	\$8,750.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$3.50	2500 / square yard	\$8,750.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$5.00	2500 / square yard	\$12,500.00	Y
	Supplier Product Code:		
	Supplier Notes:		
	First Offer - \$3.50 First Offer - \$3.50	Supplier Notes: First Offer - \$2.55 2500 / square yard	First Offer - \$2.55 2500 / square yard \$6,375.00

PM-031201-145 BASE BID: 988-04 REINFORCEMENT GR	ID FOR BASES					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$1.25	2500 / square yard	\$3,125.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$1.50	2500 / square yard	\$3,750.00		Υ	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$2.55	2500 / square yard	\$6,375.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$3.50	2500 / square yard	\$8,750.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$3.50	2500 / square yard	\$8,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.00	2500 / square yard	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-031201-146 BASE BID: SP IRRIGATION REPLACEMENT / REPAIR - 1/2"							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$20.00	50 / linear foot	\$1,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$25.00	50 / linear foot	\$1,250.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$25.00	50 / linear foot	\$1,250.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$35.00	50 / linear foot	\$1,750.00		Y	
Product Code:		Supplier Product Co	ode:				

Agency Notes:		Supplier Notes:				
Silver Star Construction Company		First Offer - \$40.32	50 / linear foot	\$2,016.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$65.00	50 / linear foot	\$3,250.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PM-031201-147 BASE BID: SP IRRIGATION HEAD REPAIR	/ REPLACEMENT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$250.00	1 / each	\$250.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$350.00	1 / each	\$350.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	1 / each	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$500.00	1 / each	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$600.00	1 / each	\$600.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$3,135.74	1 / each	\$3,135.74		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-031201-148 BASE BID: 700-00 TRAFFIC CONTROL (4	4 LANE MILE SECTION)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$13,750.00	1 / lump sum	\$13,750.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$15,100.00	1 / lump sum	\$15,100.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 🙀	First Offer - \$15,423.90	1 / lump sum	\$15,423.90		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$16,000.00	1 / lump sum	\$16,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$16,500.00	1 / lump sum	\$16,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-0312-01-149 BASE BID: 700-00 TRAFFIC CONTROL (2 LANE MILE SECTION)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Silver Star Construction Company	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$11,000.00	1 / lump sum	\$11,000.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$11,500.00	1 / lump sum	\$11,500.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11,500.00	1 / lump sum	\$11,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$12,000.00	1 / lump sum	\$12,000.00	Y	
		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	·	

PM-031201-150 BASE BID: 700-00 TRAFFIC CONTROL (SIG	GNALIZED INTERSECTION	J)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$1,255.44	2 / each	\$2,510.88		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,500.00	2 / each	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$3,000.00	2 / each	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$3,000.00	2 / each	\$6,000.00		Υ
		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$3,200.00	2 / each	\$6,400.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031201-151 BASE BID: 700-00 TRAFFIC CONTROL (CHANGEABLE MESSAGE SIGNS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 🙀	First Offer - \$652.83	3 / day	\$1,958.49		Y			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company 🙀	First Offer - \$750.00	3 / day	\$2,250.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$775.00	3 / day	\$2,325.00	Υ	Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$800.00	3 / day	\$2,400.00		Y			

		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$800.00	3 / day	\$2,400.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$975.00	3 / day	\$2,925.00	Y	Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Bid bond saved here, could not uploaded under bid bond link.			ıploaded

Supplier Total:	s		
f Atlas Paving	g Company	\$6,886,875.00 (151/151 items)	
Bid Contact	Carol McCoin jeffsmith@atlaspavingok.com Ph 405-947-2381 Fax 405-947-3670	Address 3800 NW 8th Street Oklahoma City, OK 73107	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: Authorized on Aug 12, 2024)		
Agency Notes		Supplier Notes:	Head Attch:
f Silver Star C	Construction Company	\$7,268,014.60 (151/151 items)
Bid Contact	Amber Harris tim@silverstarconst.com Ph 405-793-1725	Address 2401 S Broadway Moore, OK 73160	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: Authorized on Aug 6, 2024)		
Bid Notes	BID BOND ALSO ATTACHED TO LINE ITEM 1		
Agency Notes	:	Supplier Notes: BID BOND ALSO ATTACHED TO LINE ITEM 1	Head Attch:
f Rudy Consti	ruction Co.	\$7,287,250.00 (151/151 items)	
Bid Contact	Doug Walker ppratt@rudycc.com Ph 405-478-9900	Address 3101 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: Authorized on Jul 25, 2024)		
Agency Notes:	:	Supplier Notes:	Head Attch:
f T.J. Campbe	ll Construction Co.	\$7,370,230.00 (151/151 items)	
Bid Contact	Donnie Dorn TJCESTIMATING@TJCAMPBELL.COM Ph 405-672-6768 Fax 405-513-6786	Address PO Box 3788 Edmond, OK 73083	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:	:	Supplier Notes: H	lead Attch:
f Ellsworth Co	onstruction OKC dba A-Tech Paving	\$7,399,576.00 (151/151 it	ems)

Bid Contact Tim Lunday Address 500 N Vickie DR

okcbids@ellsworthinc.com Oklahoma City, OK 73117

Ph 405-418-4741

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Bid Notes Bid bond uploaded to last line item, could not upload under bid bond link.

Agency Notes: Supplier Notes: Head

Bid bond uploaded to last line item, could **Attch:**

not upload under bid bond link.

f SCHWARZ PAVING CO., INC. \$7,499,630.00 (151/151 items)

Bid Contact BRIAN SCHWARZ Address 8251 WEST RENO AVE RICHARD.SCHWARZ@SCHWARZPAVING.COM OKLAHOMA CITY, OK

Ph 405-789-7203 73127

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Bid Bond Status: Authorized on Aug 13, 2024)

Agency Notes: Supplier Notes: Head

Attch:

M

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid PM-0313 Ended At Aug 14, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Arterial Street Resurfacing

Company:	Atlas Paving Company	Rudy Construction Co.	SCHWARZ PAVING CO., INC.
BASE BID	\$3,802,612.50	\$4,145,603.75	\$4,178,285.50
TOTAL BID:	\$3,802,612.50	\$4,145,603.75	\$4,178,285.50

Company:	Haskell Lemon Group, LLC	Ellsworth Construction OKC dba A- Tech Paving	Silver Star Construction Company
BASE BID	\$4,261,085.45	\$4,268,876.10	\$4,427,379.07
TOTAL BID:	\$4,261,085.45	\$4,268,876.10	\$4,427,379.07

Company:	T.J. Campbell Construction Co.	
BASE BID	\$5,226,411.35	
TOTAL BID:	\$5,226,411.35	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-

Bid #PM-0313 - Arterial Street Resurfacing

Creation Date **Jul 1, 2024** End Date **Aug 14, 2024 10:00:00 AM CDT**

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

PM-031301-01 BASE BID: 200-00 UNCLASSIFIED EXCAVA	ATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$7.10	500 / cubic yard	\$3,550.00	Υ	Υ	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$22.00	500 / cubic yard	\$11,000.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
T.J. Campbell Construction Co.	First Offer - \$24.00	500 / cubic yard	\$12,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Haskell Lemon Group, LLC	First Offer - \$24.00	500 / cubic yard	\$12,000.00	Y	Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$25.00	500 / cubic yard	\$12,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$25.00	500 / cubic yard	\$12,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Atlas Paving Company 👔	First Offer - \$30.00	500 / cubic yard	\$15,000.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$6.50	500 / cubic yard	\$3,250.00		Y
Product Code: Agency Notes:	<u>'</u>	'	Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co. 👔		First Offer - \$22.00	500 / cubic yard	\$11,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Haskell Lemon Group, LLC		First Offer - \$24.00	500 / cubic yard	\$12,000.00		Υ
		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$25.00	500 / cubic yard	\$12,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$25.00	500 / cubic yard	\$12,500.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
T.J. Campbell Construction Co.		First Offer - \$28.00	500 / cubic yard	\$14,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Atlas Paving Company 🙀		First Offer - \$30.00	500 / cubic yard	\$15,000.00		Υ
Product Code:			Supplier Product Code	e:		

Agency Notes: Supplier Notes:

PM-031301-03 BASE BID: 200-04 DRAINAGE DITCH EXC	AVATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$2.40	5000 / linear foot	\$12,000.00		Y
		Supplier Product Code Supplier Notes:	::		
T.J. Campbell Construction Co.	First Offer - \$4.00	5000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$4.00	5000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.50	5000 / linear foot	\$22,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company 👔	First Offer - \$5.00	5000 / linear foot	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::		
SCHWARZ PAVING CO., INC.	First Offer - \$5.00	5000 / linear foot	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$8.05	5000 / linear foot	\$40,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-031301-04 BASE BID: 202-00 UNCLASSIFIED BORR	OW	I				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$14.00	500 / cubic yard	\$7,000.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
T.J. Campbell Construction Co.		First Offer - \$27.00	500 / cubic yard	\$13,500.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Atlas Paving Company 👔		First Offer - \$30.00	500 / cubic yard	\$15,000.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Rudy Construction Co.		First Offer - \$35.00	500 / cubic yard	\$17,500.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$35.00	500 / cubic yard	\$17,500.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
SCHWARZ PAVING CO., INC.		First Offer - \$40.00	500 / cubic yard	\$20,000.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		
Haskell Lemon Group, LLC		First Offer - \$55.00	500 / cubic yard	\$27,500.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		

PM-031301-05 BASE BID: 220-02 PROOF ROLLING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

T.J. Campbell Construction Co.	First Offer - \$0.13	23645 / square yard	\$3,073.85	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Rudy Construction Co.	First Offer - \$0.20	23645 / square yard	\$4,729.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Silver Star Construction Company	First Offer - \$0.35	23645 / square yard	\$8,275.75	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·
Atlas Paving Company 👔	First Offer - \$0.50	23645 / square yard	\$11,822.50	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·
SCHWARZ PAVING CO., INC.	First Offer - \$0.50	23645 / square yard	\$11,822.50	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$0.50	23645 / square yard	\$11,822.50	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.50	23645 / square yard	\$11,822.50	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

PM-031301-06 BASE BID: 222-04 PORTLAND CEMEN	T (4%)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCHWARZ PAVING CO., INC.		First Offer - \$170.00	500 / ton	\$85,000.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	·	
Atlas Paving Company 👔		First Offer - \$180.00	500 / ton	\$90,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$215.00	500 / ton	\$107,500.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$220.00	500 / ton	\$110,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company		First Offer - \$221.00	500 / ton	\$110,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$250.00	500 / ton	\$125,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$267.50	500 / ton	\$133,750.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

PM-031301-07 BASE BID: 222-05 CEMENTITIOUS STABILIZED SUBGRADE (8 INCHES THICK COMPACTED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$1.00	16213 / square yard	\$16,213.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$2.75	16213 / square yard	\$44,585.75		Υ		

Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	16213 / square yard	\$48,639.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.80	16213 / square yard	\$61,609.40	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$4.00	16213 / square yard	\$64,852.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$5.00	16213 / square yard	\$81,065.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$6.60	16213 / square yard	\$107,005.80	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-031301-08 BASE BID: 222-18 CEMENT SLURRY (4%))						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	T	First Offer - \$100.00	500 / ton	\$50,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$257.00	500 / ton	\$128,500.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Atlas Paving Company 👔		First Offer - \$275.00	500 / ton	\$137,500.00		Υ	
			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$285.00	500 / ton	\$142,500.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co. 👔		First Offer - \$300.00	500 / ton	\$150,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$330.00	500 / ton	\$165,000.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$375.00	500 / ton	\$187,500.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			

PM-031301-09 BASE BID: 225-00 AGGREGATE BASE (TY	PM-031301-09 BASE BID: 225-00 AGGREGATE BASE (TYPE A)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$68.30	500 / cubic yard	\$34,150.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$69.00	500 / cubic yard	\$34,500.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$72.50	500 / cubic yard	\$36,250.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

g				
Rudy Construction Co.	First Offer - \$85.00	500 / cubic yard	\$42,500.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$87.50	500 / cubic yard	\$43,750.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$100.00	500 / cubic yard	\$50,000.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$115.00	500 / cubic yard	\$57,500.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PM-031301-10 BASE BID: 226-02 PROCESSING EXIS					_
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$1.0) 16213 / square yard	\$16,213.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.0) 16213 / square yard	\$32,426.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$2.2) 16213 / square yard	\$35,668.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$3.0) 16213 / square yard	\$48,639.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$3.0	5 16213 / square yard	\$49,449.65		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4.0) 16213 / square yard	\$64,852.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$7.0	16213 / square yard	\$113,491.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-031301-11 BASE BID: 226-05 PROCESSING EXISTING	BASE & SURFACE W	ITH CHEMICAL ADDITIVE	METHOD E		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$2.50	16213 / square yard	\$40,532.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.50	16213 / square yard	\$72,958.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$5.00	16213 / square yard	\$81,065.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.00	16213 / square yard	\$81,065.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	16213 / square yard	\$97,278.00		Υ

		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$7.00	16213 / square yard	\$113,491.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$7.90	16213 / square yard	\$128,082.70		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PM-031301-12 BASE BID: 301-35 SUPERPAVE TYPE S	6 (PG	70-28 OK)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$121.57	1000 / ton	\$121,570.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔		First Offer - \$130.00	1000 / ton	\$130,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company		First Offer - \$141.50	1000 / ton	\$141,500.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Atlas Paving Company 👔		First Offer - \$150.00	1000 / ton	\$150,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC		First Offer - \$158.50	1000 / ton	\$158,500.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$160.00	1000 / ton	\$160,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$180.00	1000 / ton	\$180,000.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			

PM-031301-13 BASE BID: 301-36 SUPERPAVE TYPE	S6 (PG 6	4-22 OK)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$105.08	500 / ton	\$52,540.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$108.25	500 / ton	\$54,125.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$115.00	500 / ton	\$57,500.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$126.50	500 / ton	\$63,250.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Atlas Paving Company 🔓		First Offer - \$150.00	500 / ton	\$75,000.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$150.00	500 / ton	\$75,000.00		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				

T.J. Campbell Construction Co.	First Offer - \$170.00	500 / ton	\$85,000.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PM-031301-14 BASE BID: 301-37 SUPERPAVE TYPE S	3 (PG	58-28 OK)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$90.00	3635 / ton	\$327,150.00		Υ	
Product Code: Agency Notes:	·		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$93.50	3635 / ton	\$339,872.50		Υ	
			Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.		First Offer - \$95.00	3635 / ton	\$345,325.00		Υ	
			Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$95.00	3635 / ton	\$345,325.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$98.77	3635 / ton	\$359,028.95		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company 👔		First Offer - \$115.40	3635 / ton	\$419,479.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$125.00	3635 / ton	\$454,375.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			

PM-031301-15 BASE BID: 301-38 SUPERPAVE TYPE S5	5 (PG 70-28 OK)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$129.00	1987 / ton	\$256,323.00		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
Rudy Construction Co. 👔	First Offer - \$140.00	1987 / ton	\$278,180.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$150.00	1987 / ton	\$298,050.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Silver Star Construction Company 🙀	First Offer - \$150.70	1987 / ton	\$299,440.90		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$155.00	1987 / ton	\$307,985.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$160.00	1987 / ton	\$317,920.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$163.00	1987 / ton	\$323,881.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀		First Offer - \$10.00	1000 / linear foot	\$10,000.00		Υ	
Product Code: Agency Notes:	<u>'</u>		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.		First Offer - \$12.00	1000 / linear foot	\$12,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$18.00	1000 / linear foot	\$18,000.00		Υ	
		Supplier Product Code Supplier Notes:	e:				
Silver Star Construction Company 👔		First Offer - \$20.00	1000 / linear foot	\$20,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$20.00	1000 / linear foot	\$20,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔		First Offer - \$25.00	1000 / linear foot	\$25,000.00		Y	
		Supplier Product Code Supplier Notes:	e:				
Haskell Lemon Group, LLC		First Offer - \$76.60	1000 / linear foot	\$76,600.00		Υ	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:			

PM-031301-17 BASE BID: 304-06 P. C. CONC. PAVEMEN	IT (8 INCHES) (4000 PSI H	IES) (REINF. CONC. VAL	LEY GUTTE		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$99.85	500 / square yard	\$49,925.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$103.50	500 / square yard	\$51,750.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$115.00	500 / square yard	\$57,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$120.00	500 / square yard	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$125.00	500 / square yard	\$62,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$132.00	500 / square yard	\$66,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company 👔	First Offer - \$150.00	500 / square yard	\$75,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-031301-18 BASE BID: 304-07 P. C. CONC. PAVEMENT (8 INCHES) (DOWELL JOINTED) (4000 PSI HES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$90.00	500 / square yard	\$45,000.00		Y			
Product Code:		Supplier Product Code	e:					

Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$98.00	500 / square yard	\$49,000.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$100.00	500 / square yard	\$50,000.00	Y
Product Code:		Supplier Product Code	: :	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$100.00	500 / square yard	\$50,000.00	Υ
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$104.00	500 / square yard	\$52,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
Haskell Lemon Group, LLC	First Offer - \$107.50	500 / square yard	\$53,750.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	·
T.J. Campbell Construction Co.	First Offer - \$108.00	500 / square yard	\$54,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	

PM-031301-19 BASE BID: 304-08 P. C. CONC. PAVEMEN	IT (10 INCHES) (DOWELL	. JOINTED) (4000 PSI HE	S)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC.	First Offer - \$98.00	500 / square yard	\$49,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :			
Atlas Paving Company 👔	First Offer - \$100.00	500 / square yard	\$50,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:	·			
Silver Star Construction Company	First Offer - \$107.65	500 / square yard	\$53,825.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$108.00	500 / square yard	\$54,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$110.00	500 / square yard	\$55,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:			
Haskell Lemon Group, LLC	First Offer - \$111.50	500 / square yard	\$55,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.	First Offer - \$120.00	500 / square yard	\$60,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:			

PM-0313-01-20 BASE BID: 305-00 CURB AND GUTTER (ALL TYPES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 🙀	First Offer - \$33.45	2000 / linear foot	\$66,900.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$34.60	2000 / linear foot	\$69,200.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
	First Offer - \$40.00	2000 / linear foot	\$80,000.00		Y				

g							
Atlas Paving Company 👔							
Product Code:	Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$40.00	2000 / linear foot	\$80,000.00	Υ			
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$40.00	2000 / linear foot	\$80,000.00	Υ			
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$40.00	2000 / linear foot	\$80,000.00	Υ			
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$45.00	2000 / linear foot	\$90,000.00	Υ			
Product Code:		Supplier Product Cod	е:				
Agency Notes:		Supplier Notes:					

PM-031301-21 BASE BID: 305-14 INTEGRAL CURB FOR S	IDEWALK (6 INCHES TO	12 INCHES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$15.00	200 / linear foot	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$15.00	200 / linear foot	\$3,000.00		Υ
		Supplier Product Cod Supplier Notes:	le:		
Atlas Paving Company 🙀	First Offer - \$20.00	200 / linear foot	\$4,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$20.00	200 / linear foot	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$35.00	200 / linear foot	\$7,000.00		Υ
Product Code: Agency Notes:	'	Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$35.00	200 / linear foot	\$7,000.00		Y
		Supplier Product Cod Supplier Notes:	le:		
Haskell Lemon Group, LLC	First Offer - \$36.30	200 / linear foot	\$7,260.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PM-031301-22 BASE BID: 309-03 HAUL OUT MILLED PAVEMENT										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔		First Offer - \$0.01	11825 / square yard	\$118.25		Y				
Product Code:		Supplier Product Code:								
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$0.10	11825 / square yard	\$1,182.50		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Rudy Construction Co.		First Offer - \$0.75	11825 / square yard	\$8,868.75		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
SCHWARZ PAVING CO., INC.		First Offer - \$0.75	11825 / square yard	\$8,868.75		Y				

Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1.05	11825 / square yard	\$12,416.25	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$1.40	11825 / square yard	\$16,555.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1.70	11825 / square yard	\$20,102.50	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PM-031301-23 BASE BID: 309-12 COLD MILLING PAVEMENT (ASPH. UP TO 4 INCHES)(FINE MILL) < 2,000.00 SY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$6.00	1999 / square yard	\$11,994.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.50	1999 / square yard	\$12,993.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 🙀	First Offer - \$8.00	1999 / square yard	\$15,992.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$8.65	1999 / square yard	\$17,291.35		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company 🙀	First Offer - \$10.00	1999 / square yard	\$19,990.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$12.00	1999 / square yard	\$23,988.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$12.60	1999 / square yard	\$25,187.40		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PM-031301-24 BASE BID: 309-12 COLD MILLING PAVEMENT (ASPH. UP TO 4 INCHES)(FINE MILL) > 2,000.00 SY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$3.55	23645 / square yard	\$83,939.75		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$4.00	23645 / square yard	\$94,580.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$4.00	23645 / square yard	\$94,580.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 🙀	First Offer - \$4.00	23645 / square yard	\$94,580.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.65	23645 / square yard	\$109,949.25		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

T.J. Campbell Construction Co.	First Offer - \$4.75	23645 / square yard	\$112,313.75	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	23645 / square yard	\$141,870.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-031301-25 BASE BID: 309-14 COLD MILLING PAVE	MENT (PC CONC UP T	O 2 INCHES)(FINE MILL)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$3.35	23645 / square yard	\$79,210.75		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$3.55	23645 / square yard	\$83,939.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 🙀	First Offer - \$4.00	23645 / square yard	\$94,580.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.75	23645 / square yard	\$112,313.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.00	23645 / square yard	\$118,225.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$6.25	23645 / square yard	\$147,781.25		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$6.75	23645 / square yard	\$159,603.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 🙀	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	,				
Rudy Construction Co. 👔	First Offer - \$4.50	2000 / linear foot	\$9,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4.50	2000 / linear foot	\$9,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.50	2000 / linear foot	\$9,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$5.00	2000 / linear foot	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$5.45	2000 / linear foot	\$10,900.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$9.00	2000 / linear foot	\$18,000.00		Υ	

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7.50	1000 / linear foot	\$7,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:			
Rudy Construction Co.	First Offer - \$8.00	1000 / linear foot	\$8,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 🙀	First Offer - \$9.39	1000 / linear foot	\$9,390.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Haskell Lemon Group, LLC	First Offer - \$41.40	1000 / linear foot	\$41,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

PM-0313-01-28 BASE BID: 310-05 CLEANING AND SEALIN	IG P.C. CONCRETE JOI	NTS			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$2.50	1000 / linear foot	\$2,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$3.00	1000 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		·		
Haskell Lemon Group, LLC	First Offer - \$3.25	1000 / linear foot	\$3,250.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.50	1000 / linear foot	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$5.50	1000 / linear foot	\$5,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		

PM-031301-29 BASE BID: 310-06 CLEANING AND SEALING P.C. CONCRETE CRACKS						

At Nesarrabing Line	ito Trusto					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$2.50	1000 / linear foot	\$2,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company 🙀	First Offer - \$3.00	1000 / linear foot	\$3,000.00		Y	
Product Code:		Supplier Product Code:	<u> </u>			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$3.25	1000 / linear foot	\$3,250.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.75	1000 / linear foot	\$3,750.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5.50	1000 / linear foot	\$5,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PM-031301-30 BASE BID: 313-00 TACK COAT (CSS-1H OF	R C	BC-1H)					
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$3.00	10000 / gallon		\$30,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
Silver Star Construction Company 👔		First Offer - \$3.80	10000 / gallon		\$38,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
SCHWARZ PAVING CO., INC.		First Offer - \$4.00	10000 / gallon		\$40,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$4.10	10000 / gallon		\$41,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$5.00	10000 / gallon		\$50,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$6.00	10000 / gallon		\$60,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:			
T.J. Campbell Construction Co.		First Offer - \$6.50	10000 / gallon		\$65,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:			

PM-031301-31 BASE BID: 316-00 SUPERPAVE DELIVERY SURCHARGE (ONE WAY)(OVER 5 MILES)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC		First Offer - \$0.39	40000 / ton mile	\$15,600.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
		First Offer - \$0.40	40000 / ton mile	\$16,000.00		Υ			

21 1 100 a. 1 a. 1 a. 1 a. 1 a. 1 a. 1 a.							
Atlas Paving Company 🙀							
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co. 🙀		First Offer - \$0.40	40000 / ton mile	\$16,000.00		Υ	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$0.40	40000 / ton mile	\$16,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$0.48	40000 / ton mile	\$19,200.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$0.50	40000 / ton mile	\$20,000.00		Υ	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$0.50	40000 / ton mile	\$20,000.00		Y	
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				

PM-031301-32 BASE BID: 404-00 STRUCTURAL CON-	CRETE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$650.00	10 / cubic yard	\$6,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$685.00	10 / cubic yard	\$6,850.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$700.00	10 / cubic yard	\$7,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Haskell Lemon Group, LLC	First Offer - \$709.50	10 / cubic yard	\$7,095.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Rudy Construction Co. 👔	First Offer - \$800.00	10 / cubic yard	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$800.00	10 / cubic yard	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Atlas Paving Company 👔	First Offer - \$1,500.00	10 / cubic yard	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PM-031301-33 BASE BID: 404-04 CONCRETE (FLOWABLE	FILL)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$255.00	10 / cubic yard	\$2,550.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$264.00	10 / cubic yard	\$2,640.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$275.00	10 / cubic yard	\$2,750.00		Y

3				
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$300.00	10 / cubic yard	\$3,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$310.00	10 / cubic yard	\$3,100.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$350.00	10 / cubic yard	\$3,500.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$400.00	10 / cubic yard	\$4,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PM-031301-34 BASE BID: 411-00 REINFORCING STEEL						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$1.00	1000 / pounds	\$1,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Atlas Paving Company 👔		First Offer - \$2.00	1000 / pounds	\$2,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Silver Star Construction Company		First Offer - \$2.00	1000 / pounds	\$2,000.00		Y
Product Code: Agency Notes:	•		Supplier Product Co Supplier Notes:	de:		
Haskell Lemon Group, LLC		First Offer - \$2.05	1000 / pounds	\$2,050.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co.		First Offer - \$3.00	1000 / pounds	\$3,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.00	1000 / pounds	\$3,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
SCHWARZ PAVING CO., INC.		First Offer - \$4.50	1000 / pounds	\$4,500.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

PM-031301-35 BASE BID: 451-01 (CGMP) STORM PIPE (1	8 INCHES)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$51.00	100 / linear foot	\$5,100.00		Υ	
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:				
Silver Star Construction Company 👔	First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$62.10	100 / linear foot	\$6,210.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$70.00	100 / linear foot	\$7,000.00		Y	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				

Atlas Paving Company 👔	First Offer - \$75.00	100 / linear foot	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		

PM-031301-36 BASE BID: 451-02 (CGMP) PREFAB EN	ID SEC	TION (18 INCHES)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$300.00	4 / each	\$1,200.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$400.00	4 / each	\$1,600.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$450.00	4 / each	\$1,800.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$450.00	4 / each	\$1,800.00		Y
Product Code: Agency Notes:	·		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$550.00	4 / each	\$2,200.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔		First Offer - \$650.00	4 / each	\$2,600.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$673.00	4 / each	\$2,692.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$65.00	100 / linear foot	\$6,500.00		Y
Product Code:	1	Supplier Product Co	de:		
Agency Notes:	 	Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$67.30	100 / linear foot	\$6,730.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$74.00	100 / linear foot	\$7,400.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company 🙀	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$85.00	100 / linear foot	\$8,500.00		Υ
Product Code:	 	Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ

Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	100 / linear foot	\$10,000.00	Υ
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		

PM-031301-38 BASE BID: 451-06 (CGMP) PREFAB END S	EC	TION (24 INCHES)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$350.00	4 / each	\$1,400.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$475.00	4 / each	\$1,900.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$500.00	4 / each	\$2,000.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.		First Offer - \$550.00	4 / each	\$2,200.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$600.00	4 / each	\$2,400.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company		First Offer - \$755.00	4 / each	\$3,020.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$782.00	4 / each	\$3,128.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$74.	00 100 / linear foot	\$7,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$86.	00 100 / linear foot	\$8,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Haskell Lemon Group, LLC	First Offer - \$89.	0 100 / linear foot	\$8,910.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$95.	00 100 / linear foot	\$9,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Atlas Paving Company 🙀	First Offer - \$100.	00 100 / linear foot	\$10,000.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Rudy Construction Co. 👔	First Offer - \$100.	00 100 / linear foot	\$10,000.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.	First Offer - \$100.	00 100 / linear foot	\$10,000.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			

PM-031301-40 BASE BID: 453-13 REINFORCED CON	CRETE PIPE 24 INCHES O RIN	NG			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$89.00	100 / linear foot	\$8,900.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company 🙀	First Offer - \$96.00	100 / linear foot	\$9,600.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Haskell Lemon Group, LLC	First Offer - \$99.40	100 / linear foot	\$9,940.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Atlas Paving Company 👔	First Offer - \$110.00	100 / linear foot	\$11,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Rudy Construction Co. 👔	First Offer - \$110.00	100 / linear foot	\$11,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$110.00	100 / linear foot	\$11,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PM-031301-41 BASE BID: 453-19 REINFORCED CONCRET	E PIPE END SECTION (18	INCHES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$500.00	4 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,050.00	4 / each	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$1,100.00	4 / each	\$4,400.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$1,200.00	4 / each	\$4,800.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,300.00	4 / each	\$5,200.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$1,410.00	4 / each	\$5,640.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$1,460.00	4 / each	\$5,840.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-42 BASE BID: 453-25 REINFORCED CONCRETE PIPE END SECTION (24 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$650.00	4 / each	\$2,600.00		Υ			

		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,250.00	4 / each	\$5,000.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,300.00	4 / each	\$5,200.00	Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	4 / each	\$6,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$1,650.00	4 / each	\$6,600.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,709.00	4 / each	\$6,836.00	Y	
		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,800.00	4 / each	\$7,200.00	Υ	
		Supplier Product (Supplier Notes:	Code:		

PM-031301-43 BASE BID: 453-49 REINFORCED CON	CRET	E PIPE ARCH (22 INCHE	S X 13 INCHES)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$63.00	100 / linear foot	\$6,300.00		Y
		Supplier Product Co Supplier Notes:	de:			
Haskell Lemon Group, LLC		First Offer - \$65.20	100 / linear foot	\$6,520.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.		First Offer - \$100.00	100 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co. 👔		First Offer - \$110.00	100 / linear foot	\$11,000.00		Y
Product Code: Agency Notes:	·		Supplier Product Co Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$110.00	100 / linear foot	\$11,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Atlas Paving Company 👔		First Offer - \$125.00	100 / linear foot	\$12,500.00		Y
		Supplier Product Co Supplier Notes:	de:	•		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$130.00	100 / linear foot	\$13,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

PM-031301-44 BASE BID: 453-50 REINFORCED CONCRETE PIPE ARCH (28 INCHES X 18 INCHES)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company		First Offer - \$82.85	100 / linear foot	\$8,285.00		Y				
Product Code:		Supplier Product Code:								
Agency Notes:			Supplier Notes:							
Haskell Lemon Group, LLC		First Offer - \$85.80	100 / linear foot	\$8,580.00		Υ				
Product Code:		Supplier Product Code:								
Agency Notes:			Supplier Notes:							

Rudy Construction Co.	First Offer - \$125.00	100 / linear foot	\$12,500.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$130.00	100 / linear foot	\$13,000.00	Υ		
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$135.00	100 / linear foot	\$13,500.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$135.00	100 / linear foot	\$13,500.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$145.00	100 / linear foot	\$14,500.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PM-031301-45 BASE BID: 453-54 REINFORCED CONCRE	TE PIPE ARCH END SECTIO	N (28 INCHES X 18	INCHES)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$750.00	4 / each	\$3,000.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,100.00	4 / each	\$4,400.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,500.00	4 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$1,500.00	4 / each	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$1,650.00	4 / each	\$6,600.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	4 / each	\$6,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$1,709.00	4 / each	\$6,836.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-46 BASE BID: 453-58 REINFORCED CONCRETE PIPE ARCH END SECTION (22 INCHES X 13 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$650.00	4 / each	\$2,600.00		Y				
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:							
Rudy Construction Co.	First Offer - \$1,200.00	4 / each	\$4,800.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ				
		Supplier Product (Supplier Notes:	Code:						
Silver Star Construction Company	First Offer - \$1,800.00	4 / each	\$7,200.00		Y				

3					
		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,864.00	4 / each	\$7,456.00		Υ
		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,900.00	4 / each	\$7,600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,900.00	4 / each	\$7,600.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

PM-031301-47 BASE BID: 454-34 DESIGN 2-0 INLET	COMP					_
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$2,000.00	20 / each	\$40,000.00		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$2,500.00	20 / each	\$50,000.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2,500.00	20 / each	\$50,000.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$3,000.00	20 / each	\$60,000.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$3,600.00	20 / each	\$72,000.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$4,890.00	20 / each	\$97,800.00		Y
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			

PM-031301-48 BASE BID: 454-37 DESIGN 2-1 INLET COM	PLETE IN PLACE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$1,000.00	10 / each	\$10,000.00		Y	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:				
Haskell Lemon Group, LLC	First Offer - \$2,750.00	10 / each	\$27,500.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$3,000.00	10 / each	\$30,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,200.00	10 / each	\$32,000.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$4,000.00	10 / each	\$40,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

T.J. Campbell Construction Co.	First Offer - \$4,300.00	10 / each	\$43,000.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
Silver Star Construction Company	First Offer - \$5,710.00	10 / each	\$57,100.00	Y	
Product Code:		Supplier Product Code:			
		Supplier Notes:			

PM-031301-49 BASE BID: 454-38 DESIGN 2-2 INLET C	ОМР	LETE IN PLACE					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$1,500.00	10 / each	\$15,000.00		Υ	
		Supplier Product (Supplier Notes:	Code:				
Haskell Lemon Group, LLC		First Offer - \$3,500.00	10 / each	\$35,000.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$4,000.00	10 / each	\$40,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$4,000.00	10 / each	\$40,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔		First Offer - \$5,000.00	10 / each	\$50,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$6,100.00	10 / each	\$61,000.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company 🙀		First Offer - \$7,010.00	10 / each	\$70,100.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			

Supplier	Unit	Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$2,0	00.00	10 / each	\$20,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$4,0	00.00	10 / each	\$40,000.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5,0	00.00	10 / each	\$50,000.00		Y	
			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,0	00.00	10 / each	\$50,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$6,0	00.00	10 / each	\$60,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$8,2	00.00	10 / each	\$82,000.00		Y	
		Supplier Product (Supplier Notes:	Code:				
Silver Star Construction Company 👔	First Offer - \$8,3	70.00	10 / each	\$83,700.00		Y	

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PM-0313-01-51 BASE BID: 454-50 RECESS DESIGN 2-0 INL	ET COMPLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$2,500.00	5 / each	\$12,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$3,500.00	5 / each	\$17,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$3,500.00	5 / each	\$17,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$4,300.00	5 / each	\$21,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company 🙀	First Offer - \$4,500.00	5 / each	\$22,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$4,925.00	5 / each	\$24,625.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,800.00	5 / each	\$29,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-52 BASE BID: 454-51 RECESS DESIGN 2-1 IN	ILET COMPLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$2,750.00	5 / each	\$13,750.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$4,500.00	5 / each	\$22,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$4,500.00	5 / each	\$22,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$5,000.00	5 / each	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$5,000.00	5 / each	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$5,710.00	5 / each	\$28,550.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6,000.00	5 / each	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-53 BASE BID: 454-52 RECESS DESIGN 2-2 IN	PM-031301-53 BASE BID: 454-52 RECESS DESIGN 2-2 INLET COMPLETE IN PLACE						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$3,500.00	5 / each	\$17,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$5,500.00	5 / each	\$27,500.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5,500.00	5 / each	\$27,500.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Atlas Paving Company 👔	First Offer - \$6,000.00	5 / each	\$30,000.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$7,000.00	5 / each	\$35,000.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$7,010.00	5 / each	\$35,050.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,300.00	5 / each	\$36,500.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PM-031301-54 BASE BID: 454-53 RECESS DESIGN 2-3 INL	ET COMPLETE IN PLACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$4,000.00	5 / each	\$20,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co. 🙀	First Offer - \$6,500.00	5 / each	\$32,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$6,500.00	5 / each	\$32,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$7,000.00	5 / each	\$35,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$8,370.00	5 / each	\$41,850.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,400.00	5 / each	\$42,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$9,000.00	5 / each	\$45,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-55 BASE BID: 454-88 STORM WATER CURB OPENING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$300.00	5 / each	\$1,500.00		Y		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

50 1 100 a. 1 a.						
Silver Star Construction Company 🙀		First Offer - \$372.00	5 / each	\$1,860.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$385.00	5 / each	\$1,925.00	Y	
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$600.00	5 / each	\$3,000.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$650.00	5 / each	\$3,250.00	Y	
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$750.00	5 / each	\$3,750.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$2,400.00	5 / each	\$12,000.00	Y	
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			

PM-031301-56 BASE BID: 459-01 ADJUST MANHOLE TO	GRADE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$500.00	40 / each	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$586.80	40 / each	\$23,472.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$750.00	40 / each	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$850.00	40 / each	\$34,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	·	
Silver Star Construction Company	First Offer - \$875.00	40 / each	\$35,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$906.00	40 / each	\$36,240.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,300.00	40 / each	\$52,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-57 BASE BID: 460-00 PROVIDE AND SET NEW MANHOLE RING AND COVER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$500.00	40 / each	\$20,000.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$500.00	40 / each	\$20,000.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$518.00	40 / each	\$20,720.00		Υ			

3					
		Supplier Product C Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$787.50	40 / each	\$31,500.00	Υ	
		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$1,000.00	40 / each	\$40,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$1,000.00	40 / each	\$40,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,900.00	40 / each	\$76,000.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-58 BASE BID: 511-27 WATER METER ADJUS	ΤT	O GRADE					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$100.00	5 / each	\$500.00		Υ	
			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 🙀		First Offer - \$370.00	5 / each	\$1,850.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$383.00	5 / each	\$1,915.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$500.00	5 / each	\$2,500.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$500.00	5 / each	\$2,500.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$500.00	5 / each	\$2,500.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$575.00	5 / each	\$2,875.00		Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			

PM-031301-59 BASE BID: 511-28 WATER METER BOX AD	JU	ST TO GRADE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$100.00	5 / each	\$500.00		Y
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company		First Offer - \$370.00	5 / each	\$1,850.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$383.00	5 / each	\$1,915.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$500.00	5 / each	\$2,500.00		Y
		Supplier Product (Supplier Notes:	Code:			

SCHWARZ PAVING CO., INC.	First Offer - \$500.00	5 / each	\$2,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$575.00	5 / each	\$2,875.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$600.00	5 / each	\$3,000.00	Υ	
		Supplier Product (Supplier Notes:	Code:	_	

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀		First Offer - \$1,000.00	1 / each	\$1,000.00		Y	
Product Code: Agency Notes:	'		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$1,050.00	1 / each	\$1,050.00		Υ	
			Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co. 🙀		First Offer - \$2,000.00	1 / each	\$2,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$2,500.00	1 / each	\$2,500.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2,500.00	1 / each	\$2,500.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$2,589.00	1 / each	\$2,589.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company 👔		First Offer - \$5,500.00	1 / each	\$5,500.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			

upplier	U.S. B.S.						
_	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
tlas Paving Company 🙀	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ		
			Supplier Product Code: Supplier Notes:				
CHWARZ PAVING CO., INC. 👔	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ		
roduct Code: gency Notes:		Supplier Product Supplier Notes:	Code:				
udy Construction Co. 👔	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ		
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:					
lver Star Construction Company 👔	First Offer - \$8,950.00	1 / each	\$8,950.00		Υ		
roduct Code: gency Notes:		Supplier Product Supplier Notes:	Code:				
lsworth Construction OKC dba A-Tech Paving	First Offer - \$9,000.00	1 / each	\$9,000.00		Υ		
roduct Code: gency Notes:	Supplier Product Supplier Notes:	Code:					
askell Lemon Group, LLC	First Offer - \$12,945.00	1 / each	\$12,945.00		Υ		

ncy Notes:						
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$14,000.00	1 / each	\$14,000.00	Υ		
Product Code: S		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				

PM-031301-62 BASE BID: 520-03 VALVE BOX ADJUST 1	0	GRADE					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀		First Offer - \$360.00	40 / each	\$14,400.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$400.00	40 / each	\$16,000.00		Y	
			Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$450.00	40 / each	\$18,000.00		Υ	
			Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.		First Offer - \$500.00	40 / each	\$20,000.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$650.00	40 / each	\$26,000.00		Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC		First Offer - \$673.00	40 / each	\$26,920.00		Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$950.00	40 / each	\$38,000.00		Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$390.00	40 / each	\$15,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$400.00	40 / each	\$16,000.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Rudy Construction Co. 👔	First Offer - \$400.00	40 / each	\$16,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$404.00	40 / each	\$16,160.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$450.00	40 / each	\$18,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$500.00	40 / each	\$20,000.00		Y	
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$500.00	40 / each	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PM-031301-64 BASE BID: 520-16 WATER METER BO	,					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$360.00	10 / each	\$3,600.00		Y	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$400.00	10 / each	\$4,000.00		Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:	·			
T.J. Campbell Construction Co.	First Offer - \$450.00	10 / each	\$4,500.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$465.00	10 / each	\$4,650.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$475.00	10 / each	\$4,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$481.50	10 / each	\$4,815.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$500.00	10 / each	\$5,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PM-031301-65 BASE BID: 713-00 3 INCH GALVANIZED ST	TEEL CONDUIT (INSTAL	LED WITH ONE HOLE	MALLIBLE STRAPS)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$63.00	100 / linear foot	\$6,300.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$69.00	100 / linear foot	\$6,900.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.	First Offer - \$76.00	100 / linear foot	\$7,600.00		Υ
		Supplier Product Cod Supplier Notes:	le:		
Haskell Lemon Group, LLC	First Offer - \$95.00	100 / linear foot	\$9,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PM-031301-66 BASE BID: 713-08 2 INCH TRAFFIC SIGNAL CONDUIT (TRENCHED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y		

			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y	
			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$21.00	100 / linear foot	\$2,100.00		Y	
			Supplier Product Cod Supplier Notes:	le:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$22.00	100 / linear foot	\$2,200.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$23.00	100 / linear foot	\$2,300.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$23.25	100 / linear foot	\$2,325.00		Υ	
			Supplier Product Cod Supplier Notes:	le:			
T.J. Campbell Construction Co.		First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ	
		Supplier Product Cod Supplier Notes:	le:				

PM-031301-67 BASE BID: 713-09 2 INCH TRAFFIC SIGN	IAL	CONDUIT (BORED)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ	
			Supplier Product Coo Supplier Notes:	de:			
Silver Star Construction Company 👔		First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ	
			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$36.00	100 / linear foot	\$3,600.00		Υ	
			Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀		First Offer - \$36.75	100 / linear foot	\$3,675.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$36.75	100 / linear foot	\$3,675.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$40.25	100 / linear foot	\$4,025.00		Υ	
			Supplier Product Coo Supplier Notes:	de:			
T.J. Campbell Construction Co.		First Offer - \$44.00	100 / linear foot	\$4,400.00		Υ	
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:			

PM-031301-68 BASE BID: 713-10 3 INCH TRAFFIC SIGNAL CONDUIT (TRENCHED)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Silver Star Construction Company 👔		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						

SCHWARZ PAVING CO., INC.		First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ	
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$21.00	100 / linear foot	\$2,100.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$23.00	100 / linear foot	\$2,300.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$28.38	100 / linear foot	\$2,838.00		Y	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$47.25	100 / linear foot	\$4,725.00		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y	
		Supplier Product Code Supplier Notes:	2:			
Silver Star Construction Company 🙀	First Offer - \$50.00	100 / linear foot	\$5,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$52.50	100 / linear foot	\$5,250.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$55.00	100 / linear foot	\$5,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$57.50	100 / linear foot	\$5,750.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.	First Offer - \$63.00	100 / linear foot	\$6,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

PM-0313-01-70 BASE BID: 714-01 TWO CONDUCTOR SH	IEI	DED LOOP DETECTO	OR LEAD-IN CABLE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC		First Offer - \$3.70	100 / linear foot	\$370.00		Υ	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
Atlas Paving Company 👔		First Offer - \$5.00	100 / linear foot	\$500.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$5.00	100 / linear foot	\$500.00		Y	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$5.25	100 / linear foot	\$525.00		Y	

	Supplier Product Cod	le:		
	Supplier Notes:			
First Offer - \$5.50	100 / linear foot	\$550.00	Y	
Product Code:				
	Supplier Notes:			
First Offer - \$5.75	100 / linear foot	\$575.00	Υ	
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$6.00	100 / linear foot	\$600.00	Υ	
	Supplier Product Cod	le:		
	Supplier Notes:			
	First Offer - \$5.75	Supplier Notes: First Offer - \$5.50	First Offer - \$5.50 100 / linear foot \$550.00 Supplier Product Code: Supplier Notes: First Offer - \$5.75 100 / linear foot \$575.00 Supplier Product Code: Supplier Notes: First Offer - \$6.00 100 / linear foot \$600.00 Supplier Product Code:	

PM-031301-71 BASE BID: 714-04 5C CONDUCTOR TRAF	FIC SIGNAL ELECTRICA	AL CABLE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$4.75	2000 / linear foot	\$9,500.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Atlas Paving Company 👔	First Offer - \$6.00	2000 / linear foot	\$12,000.00		Y	
		Supplier Product Code Supplier Notes:	:			
Silver Star Construction Company 👔	First Offer - \$6.00	2000 / linear foot	\$12,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	2000 / linear foot	\$12,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$6.30	2000 / linear foot	\$12,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.90	2000 / linear foot	\$13,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
T.J. Campbell Construction Co.	First Offer - \$7.00	2000 / linear foot	\$14,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			

PM-031301-72 BASE BID: 714-05 7C CONDUCTOR TRAFF	=IC	SIGNAL ELECTRICA	L CABLE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC		First Offer - \$6.30	500 / linear foot	\$3,150.00		Υ	
			Supplier Product Cod Supplier Notes:	e:			
Atlas Paving Company 👔		First Offer - \$7.00	500 / linear foot	\$3,500.00		Y	
			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company		First Offer - \$7.00	500 / linear foot	\$3,500.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$7.00	500 / linear foot	\$3,500.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$7.35	500 / linear foot	\$3,675.00		Y	
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e :			

Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$8.05	500 / linear foot	\$4,025.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$9.00	500 / linear foot	\$4,500.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

PM-031301-73 BASE BID: 714-06 10C CONDUCTOR TRA	FF	IC SIGNAL ELECTRICA	L CABLE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC		First Offer - \$6.85	100 / linear foot	\$685.00		Υ	
			Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔		First Offer - \$8.00	100 / linear foot	\$800.00		Y	
			Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$8.00	100 / linear foot	\$800.00		Υ	
			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$8.00	100 / linear foot	\$800.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$8.40	100 / linear foot	\$840.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$9.20	100 / linear foot	\$920.00		Υ	
			Supplier Product Cod Supplier Notes:	le:			
T.J. Campbell Construction Co.		First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ	
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:			

Supplier	Unit Pri	e Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$8.9	-	\$895.00		Υ	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$9.0	0 100 / linear foot	\$900.00		Υ	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$9.0	0 100 / linear foot	\$900.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$9.0) 100 / linear foot	\$900.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$9.4	5 100 / linear foot	\$945.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$10.3	5 100 / linear foot	\$1,035.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.	First Offer - \$11.0	100 / linear foot	\$1,100.00		Υ	
Product Code:		Supplier Product Cod	e:			

Agency Notes: Supplier Notes:

PM-0313-01-75 BASE BID: 714-08 18C CONDUCTOR TRA	AFFIC SIGNAL ELECTRICA	AL CABLE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Silver Star Construction Company 👔	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y	
		Supplier Product Cod Supplier Notes:	de:			
SCHWARZ PAVING CO., INC.	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$10.50	100 / linear foot	\$1,050.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$10.50	100 / linear foot	\$1,050.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11.50	100 / linear foot	\$1,150.00		Υ	
		Supplier Product Coo Supplier Notes:	de:			
T.J. Campbell Construction Co.	First Offer - \$12.00	100 / linear foot	\$1,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			

PM-031301-76 BASE BID: 714-09 21C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$11.55	100 / linear foot	\$1,155.00		Υ				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
Atlas Paving Company 👔	First Offer - \$12.00	100 / linear foot	\$1,200.00		Y				
		Supplier Product Coc Supplier Notes:	le:						
Silver Star Construction Company	First Offer - \$12.00	100 / linear foot	\$1,200.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	100 / linear foot	\$1,200.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rudy Construction Co.	First Offer - \$12.60	100 / linear foot	\$1,260.00		Υ				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$13.80	100 / linear foot	\$1,380.00		Υ				
		Supplier Product Coc Supplier Notes:	le:						
T.J. Campbell Construction Co.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						

PM-0313–01-77 BASE BID: 714-10 (1 CONDUCTOR)(AWG NO. 6) ELECTRICAL CONDUCTOR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Atlas Paving Company 👔		First Offer - \$3.00	500 / linear foot	\$1,500.00		Y
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company		First Offer - \$3.00	500 / linear foot	\$1,500.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.		First Offer - \$3.15	500 / linear foot	\$1,575.00		Υ
			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.45	500 / linear foot	\$1,725.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$3.50	500 / linear foot	\$1,750.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$3.50	500 / linear foot	\$1,750.00		Υ
			Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$4.75	500 / linear foot	\$2,375.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		

PM-031301-78 BASE BID: 714-11 (1 CONDUCTOR)(A	WG N	O. 10) ELECTRICAL C	ONDUCTOR				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$3.00	500 / linear foot	\$1,500.00		Y	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:			
Silver Star Construction Company 👔		First Offer - \$3.00	500 / linear foot	\$1,500.00		Y	
		Supplier Product Code Supplier Notes:	e:				
Rudy Construction Co. 👔		First Offer - \$3.15	500 / linear foot	\$1,575.00		Y	
			Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$3.15	500 / linear foot	\$1,575.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.45	500 / linear foot	\$1,725.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$3.50	500 / linear foot	\$1,750.00		Y	
		Supplier Product Code Supplier Notes:	e:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$3.50	500 / linear foot	\$1,750.00		Y	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:			

PM-031301-79 BASE BID: 717-03 PEDESTRIAN SIGNAL HEAD (1 WAY 2 SEC.ADJ SIG.HD. (S-20))								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$790.00	16 / each	\$12,640.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company 👔	First Offer - \$860.00	16 / each	\$13,760.00		Y			

		Supplier Product Code:				
Agency Notes:						
First Offer - \$860.00	16 / each	\$13,760.00	Y			
	Supplier Product (Code:	·			
	Supplier Notes:					
First Offer - \$870.00	16 / each	\$13,920.00	Υ			
Product Code:			Supplier Product Code:			
	Supplier Notes:					
First Offer - \$900.00	16 / each	\$14,400.00	Υ			
	Supplier Product Code:					
	Supplier Notes:					
First Offer - \$989.00	16 / each	\$15,824.00	Y			
	Supplier Product Code:					
Agency Notes:						
First Offer - \$1,100.00	16 / each	\$17,600.00	Y			
	Supplier Product (Code:				
	Supplier Notes:					
	First Offer - \$870.00 First Offer - \$900.00 First Offer - \$989.00	Supplier Notes: First Offer - \$860.00 16 / each Supplier Product (Supplier Notes: First Offer - \$870.00 16 / each Supplier Product (Supplier Notes: First Offer - \$900.00 16 / each Supplier Product (Supplier Notes: First Offer - \$989.00 16 / each Supplier Product (Supplier Product (Supplier Notes: First Offer - \$1,100.00 16 / each Supplier Product (Supplier Product (Supplier Notes:	First Offer - \$860.00 16 / each \$13,760.00			

PM-031301-80 BASE BID: 722-00 PEDESTRIAN PUSH BU	ITON AND SIGN					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1,200.00	16 / each	\$19,200.00		Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
Silver Star Construction Company 👔	First Offer - \$1,200.00	16 / each	\$19,200.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$1,250.00	16 / each	\$20,000.00		Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
Rudy Construction Co.	First Offer - \$1,260.00	16 / each	\$20,160.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,300.00	16 / each	\$20,800.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,380.00	16 / each	\$22,080.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,500.00	16 / each	\$24,000.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PM-0313-01-81 BASE BID: 722-03 PEDESTRIAN PUSH BUTTON- CENTRAL CONTROL UNIT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$4,500.00	2 / each	\$9,000.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$4,500.00	2 / each	\$9,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$4,600.00	2 / each	\$9,200.00		Y				
Product Code:		Supplier Product (Code:						

Agency Notes:	Supplier Notes:				
Rudy Construction Co.	First Offer - \$4,730.00	2 / each	\$9,460.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$5,150.00	2 / each	\$10,300.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,175.00	2 / each	\$10,350.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	·	
T.J. Campbell Construction Co.	First Offer - \$5,700.00	2 / each	\$11,400.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-82 BASE BID: 724-67 PEDESTAL POLE W/5 FO	OOT MOUNTING HEIGHT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$1,500.00	8 / each	\$12,000.00		Y
		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$1,500.00	8 / each	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$1,580.00	8 / each	\$12,640.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,600.00	8 / each	\$12,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,725.00	8 / each	\$13,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,900.00	8 / each	\$15,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$2,100.00	8 / each	\$16,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-83 BASE BID: 724-68 PEDESTAL POLE W/10 FOOT MOUNTING HEIGHT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$1,700.00	8 / each	\$13,600.00		Y			
		Supplier Product (Supplier Notes:	Code:					
Silver Star Construction Company 👔	First Offer - \$1,700.00	8 / each	\$13,600.00		Υ			
		Supplier Product (Supplier Notes:	Code:					
Rudy Construction Co.	First Offer - \$1,790.00	8 / each	\$14,320.00		Y			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,800.00	8 / each	\$14,400.00		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,955.00	8 / each	\$15,640.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$2,100.00	8 / each	\$16,800.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$2,550.00	8 / each	\$20,400.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PM-031301-84 BASE BID: 726-00 PULL BOX TYPE I					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$1,400.00	2 / each	\$2,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$1,400.00	2 / each	\$2,800.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$1,470.00	2 / each	\$2,940.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,600.00	2 / each	\$3,200.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,610.00	2 / each	\$3,220.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$1,750.00	2 / each	\$3,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,800.00	2 / each	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
				Atteri.		
Haskell Lemon Group, LLC	First Offer - \$885.00	2 / each	\$1,770.00		Υ	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$1,250.00	2 / each	\$2,500.00		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$1,250.00	2 / each	\$2,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$1,320.00	2 / each	\$2,640.00		Y	
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,437.50	2 / each	\$2,875.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,500.00	2 / each	\$3,000.00		Y	
Product Code:		Supplier Product C	ode:			

		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offe	r - \$1,600.00	2 / each	\$3,200.00		Y
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			

PM-031301-86 BASE BID: 729-09 INSTALL AND REMO	VE PROJECT SIGN					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$400.00	4 / each	\$1,600.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$420.00	4 / each	\$1,680.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$460.00	4 / each	\$1,840.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$500.00	4 / each	\$2,000.00		Υ	
		Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$779.50	4 / each	\$3,118.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,000.00	4 / each	\$4,000.00		Y	
Product Code:		Supplier Product (Supplier Notes:	Code:			
Atlas Paving Company 👔	First Offer - \$1,500.00	4 / each	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

duct Code: ency Notes: dy Construction Co. duct Code: ency Notes: worth Construction OKC dba A-Tech Paving duct Code: ency Notes: Campbell Construction Co. duct Code: ency Notes: dwARZ PAVING CO., INC. ency Notes:	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$200.00	5 / each	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$210.00	5 / each	\$1,050.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$230.00	5 / each	\$1,150.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$250.00	5 / each	\$1,250.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$500.00	5 / each	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$950.00	5 / each	\$4,750.00		Y
Product Code:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$987.00	5 / each	\$4,935.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-88 BASE BID: 735-00 TRAFFIC STRIPE (6	,	a				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co. 👔	First Offer - \$1.05	25000 / linear foot	\$26,250.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1.15	25000 / linear foot	\$28,750.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.15	25000 / linear foot	\$28,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1.25	25000 / linear foot	\$31,250.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$1.50	25000 / linear foot	\$37,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$1.65	25000 / linear foot	\$41,250.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$2.15	25000 / linear foot	\$53,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-031301-89 BASE BID: 735-01 TRAFFIC STRIPE (ARRO)	WS) (SINGLE)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$65.00	60 / each	\$3,900.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$68.50	60 / each	\$4,110.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: First Offer - \$74.75 60 / each \$4.485.00					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$74.75	60 / each	\$4,485.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$80.00	60 / each	\$4,800.00		Y	
Product Code:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$83.00	60 / each	\$4,980.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Atlas Paving Company 👔	First Offer - \$125.00	60 / each	\$7,500.00		Y	
Product Code:		Supplier Product (Supplier Notes:	Code:	·		
Haskell Lemon Group, LLC	First Offer - \$130.00	60 / each	\$7,800.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PM-031301-90 BASE BID: 735-06 TRAFFIC STRIPE (PLASTIC) (SYMBOLS) (SHARROW)									
Supplier	E (PLASTIC) (SYMBOLS) (SHARROW) Unit Price Qty/Unit Total Price First Offer - \$325.00 20 / each \$6,500.00		Attch.	Docs					
Atlas Paving Company 👔	First Offer - \$325.00	20 / each	\$6,500.00		Y				

Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$337.50	20 / each	\$6,750.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$450.00	20 / each	\$9,000.00	Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:	·		
SCHWARZ PAVING CO., INC.	First Offer - \$450.00	20 / each	\$9,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$475.00	20 / each	\$9,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$517.50	20 / each	\$10,350.00	Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$575.00	20 / each	\$11,500.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-91 BASE BID: 735-07 TRAFFIC STRIPE (8 INCH	ł WIDE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$1.75	500 / linear foot	\$875.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$1.85	500 / linear foot	\$925.00		Y
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
Rudy Construction Co.	First Offer - \$1.90	500 / linear foot	\$950.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$1.90	500 / linear foot	\$950.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2.00	500 / linear foot	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$2.00	500 / linear foot	\$1,000.00		Y
		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.01	500 / linear foot	\$1,005.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PM-031301-92 BASE BID: 735-08 TRAFFIC STRIPE (12 INCH WIDE)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔		First Offer - \$2.15	500 / linear foot	\$1,075.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Haskell Lemon Group, LLC		First Offer - \$2.25	500 / linear foot	\$1,125.00		Υ				
Product Code:			Supplier Product Cod	le:						
Agency Notes:			Supplier Notes:							

Silver Star Construction Company 👔	First Offer - \$3.00	500 / linear foot	\$1,500.00	Y	
Product Code:		Supplier Product Cod	le:	·	
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	500 / linear foot	\$1,500.00	Y	
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$3.20	500 / linear foot	\$1,600.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.45	500 / linear foot	\$1,725.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$3.75	500 / linear foot	\$1,875.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

PM-031301-93 BASE BID: 735-09 TRAFFIC STRIPE (24	INC	H WIDE)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$12.00	800 / linear foot	\$9,600.00		Y
Product Code: Agency Notes:	\\		Supplier Product Co Supplier Notes:	de:		
Silver Star Construction Company 👔		First Offer - \$12.00	800 / linear foot	\$9,600.00		Υ
			Supplier Product Co Supplier Notes:	de:		
Haskell Lemon Group, LLC		First Offer - \$12.50	800 / linear foot	\$10,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$12.60	800 / linear foot	\$10,080.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$13.80	800 / linear foot	\$11,040.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$14.00	800 / linear foot	\$11,200.00		Υ
			Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.		First Offer - \$15.00	800 / linear foot	\$12,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

PM-031301-94 BASE BID: 735-10 TRAFFIC STRIPE (6 INCH WIDE)(SHADDOW STRIPING)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$1.25	1000 / linear foot	\$1,250.00		Y				
Product Code:	Supplier Product Code	:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$1.25	1000 / linear foot	\$1,250.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$1.35	1000 / linear foot	\$1,350.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.44	1000 / linear foot	\$1,440.00		Y				

9					
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1.50	1000 / linear foot	\$1,500.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$2.45	1000 / linear foot	\$2,450.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$2.55	1000 / linear foot	\$2,550.00	Υ	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PM-031301-95 BASE BID: 735-11 TRAFFIC STRIPE (PLA	STI	C) (SYMBOLS) (RR TRACK	(S)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$750.00	6 / each	\$4,500.00		Υ
Product Code: Agency Notes:	<u> </u>		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co. 🙀		First Offer - \$790.00	6 / each	\$4,740.00		Υ
Product Code: Agency Notes:	·		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$800.00	6 / each	\$4,800.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$862.50	6 / each	\$5,175.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$950.00	6 / each	\$5,700.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company 🙀		First Offer - \$1,250.00	6 / each	\$7,500.00		Y
Product Code: Agency Notes:	·		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$1,299.00	6 / each	\$7,794.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

ASTIC	C) (6 INCH WIDE)						
	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
	First Offer - \$1.00	500 / linear foot	\$500.00		Y		
		Supplier Product Cod	e:				
		Supplier Notes:					
	First Offer - \$1.00	500 / linear foot	\$500.00		Y		
Product Code:			Supplier Product Code:				
		Supplier Notes:					
	First Offer - \$1.05	500 / linear foot	\$525.00		Y		
		Supplier Product Code:					
		Supplier Notes:					
	First Offer - \$1.15	500 / linear foot	\$575.00		Y		
		Supplier Product Code:					
		Supplier Notes:					
	First Offer - \$1.25	500 / linear foot	\$625.00		Υ		
		Supplier Product Cod	e:				
		Supplier Notes:					
	ASTIO	First Offer - \$1.00 First Offer - \$1.05 First Offer - \$1.15	Unit Price Qty/Unit First Offer - \$1.00 500 / linear foot Supplier Product Cod Supplier Notes: First Offer - \$1.00 500 / linear foot Supplier Product Cod Supplier Notes: First Offer - \$1.05 500 / linear foot Supplier Product Cod Supplier Notes: First Offer - \$1.15 500 / linear foot Supplier Product Cod Supplier Product Cod Supplier Notes: First Offer - \$1.25 500 / linear foot Supplier Product Cod	Unit Price Qty/Unit Total Price First Offer - \$1.00 500 / linear foot \$500.00 Supplier Product Code: Supplier Notes: First Offer - \$1.00 500 / linear foot \$500.00 Supplier Product Code: Supplier Notes: First Offer - \$1.05 500 / linear foot \$525.00 Supplier Product Code: Supplier Notes: First Offer - \$1.15 500 / linear foot \$575.00 Supplier Product Code: Supplier Notes: First Offer - \$1.25 500 / linear foot \$625.00 Supplier Product Code: Supplier Notes:	Unit Price Qty/Unit Total Price Attch. First Offer - \$1.00 500 / linear foot \$500.00 Supplier Product Code: Supplier Notes: First Offer - \$1.00 500 / linear foot \$500.00 Supplier Product Code: Supplier Notes: First Offer - \$1.05 500 / linear foot \$525.00 Supplier Product Code: Supplier Notes: First Offer - \$1.15 500 / linear foot \$575.00 Supplier Product Code: Supplier Notes: First Offer - \$1.25 500 / linear foot \$625.00 Supplier Product Code: Supplier Notes:		

Atlas Paving Company 👔	Ш	First Offer -	\$1.65	500 / linear foot	\$825.00	Y
Product Code:				Supplier Product Cod	e:	
Agency Notes:				Supplier Notes:		
Haskell Lemon Group, LLC		First Offer -	\$1.70	500 / linear foot	\$850.00	Υ
Product Code:				Supplier Product Cod	e:	
Agency Notes:				Supplier Notes:		

PM-031301-97 BASE BID: 735-13 TRAFFIC STRIPE (PLAST	TC) (6 INCH WIDE SHA	DDOW STRIPE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$1.25	500 / linear foot	\$625.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:			
Rudy Construction Co.	First Offer - \$1.30	500 / linear foot	\$650.00		Y	
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.44	500 / linear foot	\$720.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1.60	500 / linear foot	\$800.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$2.45	500 / linear foot	\$1,225.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:			
Haskell Lemon Group, LLC	First Offer - \$2.55	500 / linear foot	\$1,275.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	500 / linear foot	\$1,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1.00	1000 / linear foot	\$1,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$1.05	1000 / linear foot	\$1,050.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$2.10	1000 / linear foot	\$2,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.30	1000 / linear foot	\$2,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$2.50	1000 / linear foot	\$2,500.00		Υ	

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PM-031301-99 BASE BID: 738-10 REMOVE WORDS A	ND S	/MBOLS					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$40.00	24 / each	\$960.00		Y	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$41.60	24 / each	\$998.40		Y	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$65.00	24 / each	\$1,560.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$65.00	24 / each	\$1,560.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$70.00	24 / each	\$1,680.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$74.75	24 / each	\$1,794.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$83.00	24 / each	\$1,992.00		Y	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				

PM-031301-100 BASE BID: 745-01 RADAR DETECTION SY	STEM (ADVANCE SENSOR	S)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$8,120.00	8 / each	\$64,960.00		Y
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$8,120.00	8 / each	\$64,960.00		Y
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:	·		
SCHWARZ PAVING CO., INC.	First Offer - \$8,350.00	8 / each	\$66,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$8,530.00	8 / each	\$68,240.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$9,338.00	8 / each	\$74,704.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$10,000.00	8 / each	\$80,000.00		Y
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$10,250.00	8 / each	\$82,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

PM-0313-01-101 BASE BID: 745-02 RADAR DETECTION S	SYSTEM (PRESENCE SENSOR	S)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$7,780.00	8 / each	\$62,240.00		Y	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$7,780.00	8 / each	\$62,240.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$8,000.00	8 / each	\$64,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$8,170.00	8 / each	\$65,360.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,947.00	8 / each	\$71,576.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$9,500.00	8 / each	\$76,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$10,000.00	8 / each	\$80,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PM-031301-102 BASE BID: 745-04 RADAR CABINET IN	TER	RFACE (MODEL 656 6 SEN	ISORS)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀		First Offer - \$7,250.00	4 / each	\$29,000.00		Y
			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔		First Offer - \$7,250.00	4 / each	\$29,000.00		Y
			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$7,400.00	4 / each	\$29,600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$7,620.00	4 / each	\$30,480.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$8,337.50	4 / each	\$33,350.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$9,000.00	4 / each	\$36,000.00		Υ
		Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC		First Offer - \$9,150.00	4 / each	\$36,600.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PM-031301-103 BASE BID: 745-05 RADAR DETECTOR CABLE									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC		First Offer - \$4.75	4000 / linear foot	\$19,000.00		Υ			
Product Code:			Supplier Product Code	:					
Agency Notes:		Supplier Notes:							
		First Offer - \$5.00	4000 / linear foot	\$20,000.00		Y			

or resultability Ellie		ito Tradio				
Atlas Paving Company 👔						
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$5.00	4000 / linear foot	\$20,000.00	Y	
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$5.00	4000 / linear foot	\$20,000.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$5.25	4000 / linear foot	\$21,000.00	Y	
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.75	4000 / linear foot	\$23,000.00	Y	
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$6.25	4000 / linear foot	\$25,000.00	Υ	
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			

PM-031301-104 BASE BID: 745-06 SWITCH FOR EXISTING	TRAFFIC CONTROL CAB	INET			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$1,750.00	4 / each	\$7,000.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Atlas Paving Company 👔	First Offer - \$1,800.00	4 / each	\$7,200.00		Υ
		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$1,800.00	4 / each	\$7,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$1,890.00	4 / each	\$7,560.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	4 / each	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,070.00	4 / each	\$8,280.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$2,300.00	4 / each	\$9,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-105 BASE BID: 801-05 SURVEY CREW (TWO MAN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$150.00	10 / hour	\$1,500.00		Y				
Product Code:		Supplier Product 0	Code:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$150.00	10 / hour	\$1,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$175.00	10 / hour	\$1,750.00		Y				

Product Code:		Supplier Product C	Code:		
Agency Notes:	Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$175.00	10 / hour	\$1,750.00	Y	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$250.00	10 / hour	\$2,500.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	10 / hour	\$2,500.00	Y	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$275.00	10 / hour	\$2,750.00	Y	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

PM-031301-106 BASE BID: 810-00 CLEARING AND GRUI	BBING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$5,000.00	0.5 / acre	\$2,500.00		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$8,000.00	0.5 / acre	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$9,500.00	0.5 / acre	\$4,750.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$10,000.00	0.5 / acre	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$10,000.00	0.5 / acre	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$10,300.00	0.5 / acre	\$5,150.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$31,145.00	0.5 / acre	\$15,572.50		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

Unit Price First Offer - \$797.73	Qty/Unit 20 / each	Total Price	Attch.	Docs			
First Offer - \$797.73	20 / each			D003			
	207 Cacii	\$15,954.60		Y			
			Supplier Product Code: Supplier Notes:				
First Offer - \$823.50	20 / each	\$16,470.00		Υ			
Product Code:			Supplier Product Code:				
	Supplier Notes:						
First Offer - \$1,300.00	20 / each	\$26,000.00		Y			
	Supplier Product Code:						
	Supplier Notes:						
First Offer - \$2,500.00	20 / each	\$50,000.00		Y			
	Supplier Product (Supplier Notes:	Code:	·				
	First Offer - \$1,300.00	Supplier Notes: 20 / each Supplier Product (Supplier Notes: First Offer - \$1,300.00 20 / each Supplier Product (Supplier Product (Supplier Notes: First Offer - \$2,500.00 20 / each Supplier Product (Supplier Notes: 20 / each \$16,470.00	Supplier Notes:			

51.155a.1a5g5						
Rudy Construction Co.	First Offer - \$3,000.00	20 / each	\$60,000.00		Υ	
		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$4,000.00	20 / each	\$80,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$5,000.00	20 / each	\$100,000.00		Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				

PM-031301-108 BASE BID: 812-01 REMOVE SIDEWALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$11.40	250 / square yard	\$2,850.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company 👔	First Offer - \$13.73	250 / square yard	\$3,432.50		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$15.00	250 / square yard	\$3,750.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$17.00	250 / square yard	\$4,250.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$18.00	250 / square yard	\$4,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company 👔	First Offer - \$25.00	250 / square yard	\$6,250.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	250 / square yard	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-031301-109 BASE BID: 812-02 REMOVE CURB AND G	JUTTER					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$9.30	2000 / linear foot	\$18,600.00		Υ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$10.00	2000 / linear foot	\$20,000.00		Y	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$12.00	2000 / linear foot	\$24,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$14.00	2000 / linear foot	\$28,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$15.00	2000 / linear foot	\$30,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	2000 / linear foot	\$30,000.00		Υ	

Product Code: St		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$15.00	2000 / linear foot	\$30,000.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

PM-0313-01-110 BASE BID: 812-03 P.C. CONCRETE PAVE	MENT REMOVAL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$13.50	300 / square yard	\$4,050.00		Υ
		Supplier Product Code Supplier Notes:	:		
Rudy Construction Co.	First Offer - \$15.00	300 / square yard	\$4,500.00		Y
		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company	First Offer - \$15.73	300 / square yard	\$4,719.00		Υ
		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$20.00	300 / square yard	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Atlas Paving Company 👔	First Offer - \$25.00	300 / square yard	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$25.00	300 / square yard	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$25.00	300 / square yard	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$13.50	200 / square yard	\$2,700.00		Υ	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$15.00	200 / square yard	\$3,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$15.73	200 / square yard	\$3,146.00		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$20.00	200 / square yard	\$4,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$30.00	200 / square yard	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$30.00	200 / square yard	\$6,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$30.00	200 / square yard	\$6,000.00		Y	
		Supplier Product Code: Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$50.00	4000 / square yard	\$200,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$65.00	4000 / square yard	\$260,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$65.00	4000 / square yard	\$260,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$75.00	4000 / square yard	\$300,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$80.00	4000 / square yard	\$320,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$91.00	4000 / square yard	\$364,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$109.00	4000 / square yard	\$436,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-0313-01-113 BASE BID: 818-06 PAVEMENT REPAIR	11" (HOT MIX ASPHALT)	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$55.00	4000 / square yard	\$220,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$70.00	4000 / square yard	\$280,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$75.00	4000 / square yard	\$300,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$78.00	4000 / square yard	\$312,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$90.00	4000 / square yard	\$360,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$98.78	4000 / square yard	\$395,120.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·		
T.J. Campbell Construction Co.	First Offer - \$125.00	4000 / square yard	\$500,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-0313-01-114 BASE BID: 818-07 PAVEMENT REPAIR 9" (CONCRETE, 4000 PSI HIGH EARLY STRENGTH)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$50.00	1000 / square yard	\$50,000.00		Υ			

		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 🙀	First Offer - \$80.00	1000 / square yard	\$80,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'	
Rudy Construction Co.	First Offer - \$90.00	1000 / square yard	\$90,000.00	Y	
		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$90.00	1000 / square yard	\$90,000.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$90.00	1000 / square yard	\$90,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$103.85	1000 / square yard	\$103,850.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$115.00	1000 / square yard	\$115,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$950.00	20 / each	\$19,000.00		Y
		Supplier Product (Supplier Notes:	Code:			
Atlas Paving Company 👔		First Offer - \$1,000.00	20 / each	\$20,000.00		Y
		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.		First Offer - \$1,200.00	20 / each	\$24,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1,200.00	20 / each	\$24,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$1,250.00	20 / each	\$25,000.00		Υ
Product Code: Agency Notes:	<u>'</u>		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC		First Offer - \$1,350.00	20 / each	\$27,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$2,000.00	20 / each	\$40,000.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PM-031301-116 BASE BID: 819-04 ADJUST EXISTING STRUCTURE (2-1 INLET REPAIR)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$1,000.00	10 / each	\$10,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$1,000.00	10 / each	\$10,000.00		Y				
Product Code:		Supplier Product Code:							

Agency Notes:	Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,500.00	10 / each	\$15,000.00	Y	
		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	10 / each	\$15,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,500.00	10 / each	\$15,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,500.00	10 / each	\$15,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2,500.00	10 / each	\$25,000.00	Υ	
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$1,000.00	10 / each	\$10,000.00		Y
		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$1,300.00	10 / each	\$13,000.00		Y
		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co. 👔	First Offer - \$1,800.00	10 / each	\$18,000.00		Y
		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$1,800.00	10 / each	\$18,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,800.00	10 / each	\$18,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$1,850.00	10 / each	\$18,500.00		Υ
		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$2,700.00	10 / each	\$27,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-118 BASE BID: 819-17 ADJUST EXISTING STRUCTURE (2-3 INLET REPAIR)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔		First Offer - \$1,000.00	10 / each	\$10,000.00		Y			
Product Code:			Supplier Product (Code:					
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$1,650.00	10 / each	\$16,500.00		Y			
Product Code:			Supplier Product (Code:					
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$2,000.00	10 / each	\$20,000.00		Y			
Product Code:			Supplier Product (Code:					
Agency Notes:			Supplier Notes:						
	Π								

9					
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	10 / each	\$20,000.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,100.00	10 / each	\$21,000.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$2,250.00	10 / each	\$22,500.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$3,300.00	10 / each	\$33,000.00	Υ	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

PM-031301-119 BASE BID: 819-10 STORM SEWER CAST I	HOOD REPLACEMENT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$375.00	20 / each	\$7,500.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$400.00	20 / each	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$414.00	20 / each	\$8,280.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$445.50	20 / each	\$8,910.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$800.00	20 / each	\$16,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$1,000.00	20 / each	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-120 BASE BID: 819-20 STORM SEWER CAST (GRATE REPLACEMENT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$364.50	20 / each	\$7,290.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$400.00	20 / each	\$8,000.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$414.00	20 / each	\$8,280.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code:		Supplier Product (Code:		

Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$700.00	20 / each	\$14,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$1,000.00	20 / each	\$20,000.00		Y	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				

PM-031301-121 BASE BID: 819-21 STORM SEWER CAST	FRAME REPLACEMENT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$200.00	10 / each	\$2,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$400.00	10 / each	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Haskell Lemon Group, LLC	First Offer - \$414.00	10 / each	\$4,140.00		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$497.25	10 / each	\$4,972.50		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	10 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$600.00	10 / each	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$900.00	10 / each	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-031301-122 BASE BID: 820-01 SAWCUT PAVEME	NT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$0.01	1000 / linear foot	\$10.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$3.50	1000 / linear foot	\$3,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Silver Star Construction Company	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	1000 / linear foot	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

Haskell Lemon Group, LLC	First Offer - \$9.65	1000 / linear foot	\$9,650.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀		First Offer - \$3.00	1000 / linear foot	\$3,000.00		Υ
			Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company 👔		First Offer - \$4.68	1000 / linear foot	\$4,680.00		Υ
Product Code: Agency Notes:	·		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.		First Offer - \$5.50	1000 / linear foot	\$5,500.00		Υ
			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$6.00	1000 / linear foot	\$6,000.00		Υ
Product Code: Agency Notes:	·		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$6.00	1000 / linear foot	\$6,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	Τ	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Haskell Lemon Group, LLC		First Offer - \$23.40	1000 / linear foot	\$23,400.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		

PM-031301-124 BASE BID: 823-00 SIDEWALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$45.00	1000 / square yard	\$45,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$45.00	1000 / square yard	\$45,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$61.00	1000 / square yard	\$61,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$65.00	1000 / square yard	\$65,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$72.85	1000 / square yard	\$72,850.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$75.00	1000 / square yard	\$75,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$75.40	1000 / square yard	\$75,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-031301-125 BASE BID: 823-03 6 INCH P.C. CONG	C. DRIVEWAY (3000 PSI HES	5)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$85.00	200 / square yard	\$17,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Haskell Lemon Group, LLC	First Offer - \$88.00	200 / square yard	\$17,600.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$98.00	200 / square yard	\$19,600.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Atlas Paving Company 👔	First Offer - \$100.00	200 / square yard	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
T.J. Campbell Construction Co.	First Offer - \$100.00	200 / square yard	\$20,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$100.00	200 / square yard	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
Rudy Construction Co. 🙀	First Offer - \$105.00	200 / square yard	\$21,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

Cumpliar	Unit Price	Oty/Unit	Total Price	Attch.	Docs
Supplier		Qty/Unit		ALLCII.	
Silver Star Construction Company 👔	First Offer - \$92.00	200 / square yard	\$18,400.00		Υ
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$95.30	200 / square yard	\$19,060.00		Υ
Product Code:		Supplier Product Code	•		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$105.00	200 / square yard	\$21,000.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$110.00	200 / square yard	\$22,000.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$115.00	200 / square yard	\$23,000.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$115.00	200 / square yard	\$23,000.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$125.00	200 / square yard	\$25,000.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PM-031301-127 BASE BID: 823-12 10 INCH P.C. CONC. DRIVEWAY (3000 PSI HES)							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔		First Offer - \$98.00	200 / square yard	\$19,600.00		Y	
Product Code:			Supplier Product Code:				

Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$101.50	200 / square yard	\$20,300.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$110.00	200 / square yard	\$22,000.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$120.00	200 / square yard	\$24,000.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$120.00	200 / square yard	\$24,000.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$125.00	200 / square yard	\$25,000.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$150.00	200 / square yard	\$30,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::	

PM-031301-128 BASE BID: 826-08 PERFORATED PIPE UN	NDERDRAIN (6 INCHES)	(SCH40)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Rudy Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y
		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$36.30	100 / linear foot	\$3,630.00		Υ
		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PM-031301-129 BASE BID: 826-09 NON-PERFORATED PIPE UNDERDRAIN (6 INCHES)(SCH40)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

Rudy Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00	Y	
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$35.00	100 / linear foot	\$3,500.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$35.00	100 / linear foot	\$3,500.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$36.30	100 / linear foot	\$3,630.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$45.00	100 / linear foot	\$4,500.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PM-031301-130 BASE BID: 827-22 GUARDRAIL END TREA	ATMENT (SEE ODOT DETA	IL T-602)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCHWARZ PAVING CO., INC.	First Offer - \$4,000.00	8 / each	\$32,000.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$4,500.00	8 / each	\$36,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Atlas Paving Company 🙀	First Offer - \$5,250.00	8 / each	\$42,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$5,455.00	8 / each	\$43,640.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$6,500.00	8 / each	\$52,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$6,500.00	8 / each	\$52,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,150.00	8 / each	\$57,200.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-131 BASE BID: 827-23 W-BEAM-TYPE GUARDRAIL (SINGLE)(SEE ODOT DETAILS T-605 AND 606)							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔		First Offer - \$34.75	200 / linear foot	\$6,950.00		Y	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$35.00	200 / linear foot	\$7,000.00		Υ	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$35.00	200 / linear foot	\$7,000.00		Y	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$36.10	200 / linear foot	\$7,220.00		Υ	

		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$38.50	200 / linear foot	\$7,700.00	Y	
		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$45.00	200 / linear foot	\$9,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$45.00	200 / linear foot	\$9,000.00	Y	
		Supplier Product Code: Supplier Notes:			

PM-031301-132 BASE BID: 827-24 REMOVE GUARDRAIL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y
		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		e:		
SCHWARZ PAVING CO., INC.	First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$21.00	100 / linear foot	\$2,100.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$21.80	100 / linear foot	\$2,180.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$27.00	100 / linear foot	\$2,700.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PM-031301-133 BASE BID: 828-09 REMOVE AND RESET F	ENCE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$10.90	100 / linear foot	\$1,090.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$40.00	100 / linear foot	\$4,000.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
		I	1 1		

T.J. Campbell Construction Co.	First Offer - \$50.00	100 / linear foot	\$5,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$94.00	100 / linear foot	\$9,400.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PM-031301-134 BASE BID: 828-10 REMOVE EXISTING FE	NCE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$5.00	250 / linear foot	\$1,250.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Haskell Lemon Group, LLC	First Offer - \$5.45	250 / linear foot	\$1,362.50		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.00	250 / linear foot	\$1,500.00		Υ
		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$8.00	250 / linear foot	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$10.00	250 / linear foot	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company 👔	First Offer - \$12.00	250 / linear foot	\$3,000.00		Y
		Supplier Product Cod Supplier Notes:	le:	·	
T.J. Campbell Construction Co.	First Offer - \$20.00	250 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$26.3	3 200 / square foot	\$5,266.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.	First Offer - \$32.0	0 200 / square foot	\$6,400.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Haskell Lemon Group, LLC	First Offer - \$39.4	0 200 / square foot	\$7,880.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$40.0	0 200 / square foot	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$40.0	0 200 / square foot	\$8,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$45.0	0 200 / square foot	\$9,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 🙀	First Offer - \$50.0	0 200 / square foot	\$10,000.00		Y
2		1			

•	
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$95.00	130 / square yard	\$12,350.00		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:			
Haskell Lemon Group, LLC	First Offer - \$98.40	130 / square yard	\$12,792.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Atlas Paving Company 👔	First Offer - \$150.00	130 / square yard	\$19,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$150.00	130 / square yard	\$19,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.	First Offer - \$165.00	130 / square yard	\$21,450.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Rudy Construction Co.	First Offer - \$200.00	130 / square yard	\$26,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
T.J. Campbell Construction Co.	First Offer - \$225.00	130 / square yard	\$29,250.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

PM-031301-137 BASE BID: 840-00 SOLID SLAB SODDING						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$3.00	6000 / square yard	\$18,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$3.00	6000 / square yard	\$18,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	6000 / square yard	\$24,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$4.13	6000 / square yard	\$24,780.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.25	6000 / square yard	\$31,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$10.00	6000 / square yard	\$60,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$10.00	6000 / square yard	\$60,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-031301-138 BASE BID: 843-16 TREE REMOVAL (OVER 3 INCHES TO 12 INCHES CALIPER)						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,500.00	1 / each	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	·	
Haskell Lemon Group, LLC	First Offer - \$1,553.00	1 / each	\$1,553.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$1,650.00	1 / each	\$1,650.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 🙀	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$2,500.00	1 / each	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-139 BASE BID: 843-17 TREE REMOVAL (OVER	R 12 INCHES CALIPER)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Haskell Lemon Group, LLC	First Offer - \$2,071.00	1 / each	\$2,071.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$2,200.00	1 / each	\$2,200.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$2,600.00	1 / each	\$2,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 🙀	First Offer - \$5,000.00	1 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PM-031301-140 BASE BID: 900-04 TRIANGULAR SILT DIKES (SEE DETAIL 7.2)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company		First Offer - \$8.00	100 / linear foot	\$800.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:		Supplier Notes:						
	П							

	First Offer - \$10.00	100 / linear foot	\$1,000.00	Y		
Product Code: S			Supplier Product Code:			
		Supplier Notes:				
	First Offer - \$12.00	100 / linear foot	\$1,200.00	Y		
		Supplier Product Cod	e:			
		Supplier Notes:				
	First Offer - \$13.00	100 / linear foot	\$1,300.00	Υ		
Product Code:			Supplier Product Code:			
		Supplier Notes:				
	First Offer - \$15.00	100 / linear foot	\$1,500.00	Y		
		Supplier Product Code:				
		Supplier Notes:				
	First Offer - \$20.00	100 / linear foot	\$2,000.00	Y		
		Supplier Product Code:				
		Supplier Notes:				
	First Offer - \$25.00	100 / linear foot	\$2,500.00	Υ		
Product Code:			Supplier Product Code:			
Agency Notes:						
		First Offer - \$12.00 First Offer - \$13.00 First Offer - \$15.00 First Offer - \$20.00	Supplier Product Cod Supplier Notes: First Offer - \$12.00	Supplier Product Code: Supplier Notes: First Offer - \$12.00 100 / linear foot \$1,200.00 Supplier Product Code: Supplier Notes: First Offer - \$13.00 100 / linear foot \$1,300.00 Supplier Product Code: Supplier Notes: First Offer - \$15.00 100 / linear foot \$1,500.00 Supplier Product Code: Supplier Notes: First Offer - \$20.00 100 / linear foot \$2,000.00 Supplier Product Code: Supplier Notes: First Offer - \$25.00 100 / linear foot \$2,500.00 Supplier Product Code: Supplier		

PM-031301-141 BASE BID: 900-09 ROCK BAG SILT FENCE	(SEE DETAIL 7.6)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$4.00	100 / linear foot	\$400.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
Silver Star Construction Company 👔	First Offer - \$6.50	100 / linear foot	\$650.00		Y
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
Atlas Paving Company 👔	First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$19.30	100 / linear foot	\$1,930.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			

PM-031301-142 BASE BID: 981-04 RIPRAP (THICKNESS < 24 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$75.00	100 / cubic yard	\$7,500.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$92.30	100 / cubic yard	\$9,230.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$110.00	100 / cubic yard	\$11,000.00		Y				
Product Code:	Supplier Product Code:								

Agency Notes:	Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$115.00	100 / cubic yard	\$11,500.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$115.00	100 / cubic yard	\$11,500.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$125.00	100 / cubic yard	\$12,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$161.27	100 / cubic yard	\$16,127.00	Y	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:			

PM-031301-143 BASE BID: 981-05 RIPRAP (THICKNESS >	24 INCHES)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$75.00	100 / cubic yard	\$7,500.00		Y	
		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$92.30	100 / cubic yard	\$9,230.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
T.J. Campbell Construction Co.	First Offer - \$115.00	100 / cubic yard	\$11,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$115.00	100 / cubic yard	\$11,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Rudy Construction Co.	First Offer - \$120.00	100 / cubic yard	\$12,000.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
SCHWARZ PAVING CO., INC.	First Offer - \$130.00	100 / cubic yard	\$13,000.00		Y	
		Supplier Product Coo Supplier Notes:	de:	·		
Silver Star Construction Company 👔	First Offer - \$195.68	100 / cubic yard	\$19,568.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			

PM-031301-144 BASE BID: 982-00 HANDRAIL (POWDER	COATED STEEL) (3 INCH	IES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:			
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$108.00	100 / linear foot	\$10,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Haskell Lemon Group, LLC	First Offer - \$108.50	100 / linear foot	\$10,850.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

Rudy Construction Co.	First Offer - \$110.00	100 / linear foot	\$11,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$115.00	100 / linear foot	\$11,500.00	Y	
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$123.52	100 / linear foot	\$12,352.00	Y	
		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company		First Offer - \$75.38	100 / linear foot	\$7,538.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Atlas Paving Company 👔		First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co.		First Offer - \$100.00	100 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
SCHWARZ PAVING CO., INC.		First Offer - \$100.00	100 / linear foot	\$10,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Haskell Lemon Group, LLC		First Offer - \$108.50	100 / linear foot	\$10,850.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.		First Offer - \$115.00	100 / linear foot	\$11,500.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

Supplier	Unit Pi	ice Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$2	00 2500 / square y	vard \$5,000.00		Y
		Supplier Production Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2	00 2500 / square y	vard \$5,000.00		Y
Product Code: Agency Notes:		Supplier Production Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2	30 2500 / square y	ard \$5,750.00		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$2	50 2500 / square y	vard \$6,250.00		Y
Product Code: Agency Notes:		Supplier Production Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2	50 2500 / square y	ard \$6,250.00		Υ
		Supplier Production Supplier Notes:			
Silver Star Construction Company 🔓	First Offer - \$2	66 2500 / square y	vard \$6,650.00		Υ

Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$4.30	2500 / square yard	\$10,750.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PM-031301-147 BASE BID: 988-04 REINFORCEMENT GR	ID FOR BASES						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$1.30	2500 / square yard	\$3,250.00		Y		
		Supplier Product Code: Supplier Notes:					
Atlas Paving Company 👔	First Offer - \$2.00	2500 / square yard	\$5,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$2.60	2500 / square yard	\$6,500.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$3.50	2500 / square yard	\$8,750.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	2500 / square yard	\$10,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.25	2500 / square yard	\$10,625.00		Y		
		Supplier Product Code: Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$4.45	2500 / square yard	\$11,125.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PM-031301-148 BASE BID: 990-01 PROFILOGRAPH SMO	OTHNESS TEST (LANE MIL	.E)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$561.89	8 / each	\$4,495.12		Υ	
		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,400.00	8 / each	\$11,200.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,500.00	8 / each	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co. 🙀	First Offer - \$3,000.00	8 / each	\$24,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$3,257.00	8 / each	\$26,056.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Atlas Paving Company 🙀	First Offer - \$3,500.00	8 / each	\$28,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4,000.00	8 / each	\$32,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PM-031301-149 BASE BID: 700-00 TRAFFIC CONTROL	. (4 LANE MILE SECTION)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$15,025.75	1 / lump sum	\$15,025.75		Υ		
		Supplier Product Code: Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$15,615.00	1 / lump sum	\$15,615.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$15,812.50	1 / lump sum	\$15,812.50		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Rudy Construction Co.	First Offer - \$16,500.00	1 / lump sum	\$16,500.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$18,000.00	1 / lump sum	\$18,000.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y		
		Supplier Product (Supplier Notes:	Code:				
Silver Star Construction Company 👔	First Offer - \$56,000.00	1 / lump sum	\$56,000.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$5,014.00	1 / lump sum	\$5,014.00		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 🙀	First Offer - \$9,275.00	1 / lump sum	\$9,275.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	'		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$10,666.25	1 / lump sum	\$10,666.25	Υ	Υ	
Agency Notes:		Supplier Notes: Bid bond uploaded	here, could not use	bid bond	link.	
Rudy Construction Co.	First Offer - \$11,500.00	1 / lump sum	\$11,500.00		Y	
Rudy Construction Co. Product Code: Agency Notes:	First Offer - \$11,500.00	1 / lump sum Supplier Product (Supplier Notes:			Υ	
Product Code: Agency Notes:	First Offer - \$11,500.00	Supplier Product			Y	
Product Code: Agency Notes: T.J. Campbell Construction Co. Product Code:		Supplier Product Supplier Notes:	State			
Product Code: Agency Notes: T.J. Campbell Construction Co. Product Code: Agency Notes:		Supplier Product Supplier Notes: 1 / lump sum Supplier Product (State			
Product Code: Agency Notes: T.J. Campbell Construction Co. Product Code: Agency Notes: SCHWARZ PAVING CO., INC.	First Offer - \$12,000.00	Supplier Product (Supplier Notes: 1 / lump sum Supplier Product (Supplier Notes:	\$12,000.00 Code: \$20,000.00		Y	
Product Code:	First Offer - \$12,000.00	Supplier Product (Supplier Notes: 1 / lump sum Supplier Product (Supplier Notes: 1 / lump sum Supplier Product (Supplier Notes)	\$12,000.00 Code: \$20,000.00		Y	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$1,250.00	2 / each	\$2,500.00		Y	
		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$1,377.00	2 / each	\$2,754.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Atlas Paving Company 👔	First Offer - \$1,425.00	2 / each	\$2,850.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,875.00	2 / each	\$5,750.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$3,000.00	2 / each	\$6,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3,000.00	2 / each	\$6,000.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
T.J. Campbell Construction Co.	First Offer - \$3,500.00	2 / each	\$7,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PM-0313-01-152 BASE BID: 700-00 TRAFFIC CONTROL (CF	HANGEABLE MESSAGE S	IGNS)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$67.50	3 / day	\$202.50		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 🙀	First Offer - \$200.00	3 / day	\$600.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	iode:			
Silver Star Construction Company	First Offer - \$450.00	3 / day	\$1,350.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	iode:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$517.50	3 / day	\$1,552.50	Υ	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
T.J. Campbell Construction Co.	First Offer - \$575.00	3 / day	\$1,725.00	Υ	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$600.00	3 / day	\$1,800.00		Y	
Product Code:		Supplier Product C Supplier Notes:	ode:			
SCHWARZ PAVING CO., INC.	First Offer - \$600.00	3 / day	\$1,800.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Supplier Totals

f Atlas Paving Company	\$3,802,612.50 (152/152 items)	

Bid Contact Carol McCoin Address 3800 NW 8th Street

jeffsmith@atlaspavingok.com

Ph 405-947-2381 Fax 405-947-3670

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Bid Bond [a] (Status: Authorized on Aug 12, 2024)

Agency Notes: Supplier Notes: Head Attch:

f Rudy Construction Co. \$4,145,603.75 (152/152 items)

Bid Contact Doug Walker Address 3101 NE 63rd Street

ppratt@rudycc.com Oklahoma City, OK 73121 Ph 405-478-9900

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**Bid Bond (Status: Authorized on Jul 25, 2024)

Agency Notes: Supplier Notes: Head Attch:

f SCHWARZ PAVING CO., INC. \$4,178,285.50 (152/152 items)

Bid Contact BRIAN SCHWARZ Address 8251 WEST RENO AVE

RICHARD.SCHWARZ@SCHWARZPAVING.COM OKLAHOMA CITY, OK

Ph 405-789-7203 73127

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**Bid Bond (Status: Authorized on Aug 13, 2024)

Agency Notes: Supplier Notes: Head Attch:

f Haskell Lemon Group, LLC \$4,261,085.45 (152/152 items)

Bid Contact Tammy Robinson Address PO Box 75608

bids@haskelllemon.com Oklahoma City, OK 73147

Ph 405-947-6069

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Agency Notes: Supplier Notes: Head Attch:

f Ellsworth Construction OKC dba A-Tech Paving \$4,268,876.10 (152/152 items)

Bid Contact Tim Lunday Address 500 N Vickie DR

okcbids@ellsworthinc.com

Oklahoma City, OK 73117

Ph 405-418-4741

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Bid Notes Bid bond uploaded to last line item, could not use bid bond link.

Agency Notes: Supplier Notes: Head

Bid bond uploaded to last line item, could **Attch:**

Oklahoma City, OK 73107

not use bid bond link.

f Silver Star Construction Company \$4,427,379.07 (152/152 items)

Bid Contact Amber Harris Address 2401 S Broadway

tim@silverstarconst.com Moore, OK 73160 Ph 405-793-1725

Qualifications CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS

Bid Bond (Status: Authorized on Aug 9, 2024)

or resultating En		10 11000	
Bid Notes	BID BOND ALSO ATTACHED TO LINE ITEM	1	
Agency Notes	:	Supplier Notes: BID BOND ALSO ATTACHED TO LINE ITEM 1	Head Attch:
f T.J. Campbe	ll Construction Co.	\$5,226,411.35 (152/152 items)	
Bid Contact	Donnie Dorn TJCESTIMATING@TJCAMPBELL.COM Ph 405-672-6768 Fax 405-513-6786	Address PO Box 3788 Edmond, OK 73083	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:		lead Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCWUT ST-0167-2 Ended At Aug 14, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Disinfection and Dechlorination Improvements, Ground Water Well Improvements

Company:	Downey Contracting, L.L.C.	Wynn Construction Co., Inc	
BASE BID	\$2,325,000.00	\$3,139,000.00	
TOTAL BID:	\$2,325,000.00	\$3,139,000.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **Business relationship affidavit not properly notarized**

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT ST-0167-2 - Disinfection and Dechlorination Improvements, Ground Water Well Improvements

Creation Date **Jun 27, 2024** End Date **Aug 14, 2024 10:00:00 AM CDT**

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

OCWUT ST-0167-201-01 BASE BID: MOBILIZATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Wynn Construction Co., Inc	First Offer - \$62,000.00	1 / lump sum	\$62,000.00	Υ	Y		
Product Code:	•	Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$70,000.00	1 / lump sum	\$70,000.00	Υ	Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

OCWUT ST-0167-201-02 BASE BID: DRILLING OF NEW SUPPLY WELL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$1,295,000.00	1 / lump sum	\$1,295,000.00	Υ	Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$1,819,000.00	1 / lump sum	\$1,819,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT ST-0167-201-03 BASE BID: WATER WELL APPURTENANCES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$500,000.00	1 / lump sum	\$500,000.00	Υ	Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$749,000.00	1 / lump sum	\$749,000.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

OCWUT ST-0167-201-04 BASE BID: REHABILITATION OF EXISTING WELL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$250,000.00	1 / lump sum	\$250,000.00	Υ	Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$297,000.00	1 / lump sum	\$297,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

OCWUT ST-0167-201-05 BASE BID: SITE RESTORATION						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Wynn Construction Co., Inc	First Offer - \$97,000.00	1 / lump sum	\$97,000.00		Υ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$130,000.00	1 / lump sum	\$130,000.00		Y	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				

OCWUT ST-0167-201-06 BASE BID: MISCELLANEOUS WORK ITEMS					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Downey Contracting, L.L.C.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$32,000.00	1 / lump sum	\$32,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

OCWUT ST-0167-201-07 BASE BID: DEMOLITION OF EXISTING WELL							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Downey Contracting, L.L.C.		First Offer - \$60,000.00	1 / lump sum	\$60,000.00		Υ	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
Wynn Construction Co., Inc		First Offer - \$83,000.00	1 / lump sum	\$83,000.00		Y	
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				

Supplier Totals

f Downey Co	ntracting, L.L.C.	\$2,325,000.00 (7/7 items	
Bid Contact	Sheila Stovall dmccaskill@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:
f Wynn Const	truction Co., Inc	\$3,139,000.00 (7/7 items)
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #25709 - OUTDOOR COURT SURFACE SYSTEM

Creation Date **Jul 10, 2024** End Date **Aug 14, 2024 10:00:00 AM CDT**

Start Date Jul 17, 2024 7:49:17 AM CDT Awarded Date Not Yet Awarded

Merrit	rt Tennis			\$18.00 (14/14 items)	
Bid Contact Paul Merritt paul@merrittcompanies.net Ph 405-947-7918 Agency Notes:		Address 917 N. Tulsa Ave Oklahoma City, OK 73107 Supplier Notes:			
25709- -01-01	Delivery: Delivery - First Offer		1 / day		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25709- -02-01	Base Bid: Fill and Patch Outdoor Sports Court Surface - First Offer		1 / square foot	\$5.00	
Produc Agency		Supplier Product Code: Supplier Notes:			
25709- -02-02	Base Bid: Resurface Outdoor Sports Courts - First Offer	\$6.00	1 / square foot	\$6.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
25709- -02-03	Base Bid: Court Striping - First Offer	\$1.00	1 / linear foot	\$1.00	
Produc Agency		Supplier Product Code: Supplier Notes:			
25709- -02-04	Base Bid: Complete Acrylic Court Surface Application - First Offer		1 / square foot	\$6.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
				Lot Total: \$18.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25709- -03-01	Bid Attachments: Manufacturer 's Product Data - First Offer		1 / each		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
25709- -03-02	Bid Attachments: Manufacturer's Color Sample - First Offer		1 / each		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
25709- -03-03	Bid Attachments: Independent Test Results - First Offer		1 / each		
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:			

INI SUN	race its	s Trusis		
25709- -03-04	Bid Attachments: Independent Test Results - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25709- -03-05	Bid Attachments: Manufacturer's Certification - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25709- -03-06	Bid Attachments: Safety Data Sheets - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25709- -03-07	Bid Attachments: Warranty - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
25709- -03-08	Bid Attachments: Substitution Information - First Offer		1 / each	
Produc Agency	 	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25709- -04-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00

Precision Construction&ContractingDBA PCC Sports

\$19.89 (14/14 items)

Bid Contact Bid-Department PCC Sports

sportsbids@pcc.build

Ph 855-697-4194

Qualifications CS ARCH ENG

Address **PO Box 320 105 E Battlefield Road Suite B**

Lone Jack, MO 64070

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25709- -01-01	Delivery: Delivery - First Offer		1 / day	
Product Agency		Supplier Product Code: Supplier Notes:		
	Lot Total: \$0.			Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25709- -02-01	Base Bid: Fill and Patch Outdoor Sports Court Surface - First Offer		1 / square foot	\$9.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: We track crack repair in linear foot		
25709- -02-02	Base Bid: Resurface Outdoor Sports Courts - First Offer	\$3.00	1 / square foot	\$3.00
		Supplier Product Code: Supplier Notes:		

Product Code: Supplier Product Code: Sup	IKI SUK	IAOL	5 TTUSIS		
Product Code: Agency Notes: 32799 Base Bid: Complete Actylic Court Surface Application - First		Base Bid: Court Striping - First Offer	\$3.30		\$3.30
Option	Product Code:		Supplier Product Code:		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Lot Total: \$19.80			\$4.59		\$4.59
Item # Line Item Line Item # Line Item # Line Item # Line Item Line	Product Code:		Supplier Product Code:		
# Une Item Unit Price Qty/Unit Iolai Price 25709- Bid Attachments: Manufacturer's Product Data - First Offer 03-02 Supplier Product Code: Supplier Notes: 25709- Bid Attachments: Independent Test Results - First Offer Supplier Notes: 25709- Bid Attachments: Independent Test Results - First Offer Supplier Product Code: Supplier Notes: 25709- Bid Attachments: Independent Test Results - First Offer Supplier Notes: 25709- Bid Attachments: Manufacturer's Certification - First Offer Supplier Notes: 25709- Bid Attachments: Safety Data Sheets - First Offer Supplier Product Code: Supplier Notes: 25709- Bid Attachments: Substitution Information - First Offer Supplier Product Code: Supp					Lot Total: \$19.89
Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Su		Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes: 25709- Bid Attachments: Manufacturer's Color Sample - First Offer 1 / each 2 /		Bid Attachments: Manufacturer 's Product Data - First Offer		1 / each	
Product Code: Agency Notes: 25709- Bid Attachments: Independent Test Results - First Offer (-03-04) Product Code: Agency Notes: 25709- Bid Attachments: Independent Test Results - First Offer (-03-04) Product Code: Agency Notes: 25709- Bid Attachments: Manufacturer's Certification - First Offer (-03-05) Bid Attachments: Manufacturer's Certification - First Offer (-03-06) Bid Attachment					
Agency Notes: Supplier Notes: Bid Attachments: Independent Test Results - First Offer 1 / each 1 / each 2 / each		Bid Attachments: Manufacturer's Color Sample - First Offer		1 / each	
Product Code: Supplier Product Code: Supplier Notes: Suppl					
Agency Notes: 25709- 03-04 Product Code: Agency Notes: 25709- 03-05 Product Code: Agency Notes: 25709- 03-06 Product Code: Agency Notes: 25709- Product Code: Agency Notes: 25709- Bid Attachments: Safety Data Sheets - First Offer 03-07 03-07 Product Code: Agency Notes: 25709- Bid Attachments: Warranty - First Offer 03-07 03-07 Product Code: Agency Notes: 25709- Product Code: Agency Notes: 25709- Bid Attachments: Substitution Information - First Offer 03-08 Product Code: Agency Notes: 25709- Data Attachments: Substitution Information - First Offer 03-08 Product Code: Agency Notes: 25709- Data Attachments: Substitution Information - First Offer 03-08 Product Code: Agency Notes: 25709- Data Attachments: Substitution Information - First Offer 04-01 1 / each 2 1 /	1	Bid Attachments: Independent Test Results - First Offer		1 / each	
Product Code: Agency Notes: Supplier Product Code: Agency Notes: Bid Attachments: Manufacturer's Certification - First Offer 1 / each Product Code: Agency Notes: Supplier Notes: Supplier Product Code: Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Lot Total Frice Supplier Product Code: Agency Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplie					
Agency Notes: 25709- 03-05 Bid Attachments: Manufacturer's Certification - First Offer od-03-05 Product Code: Agency Notes: 25709- 03-06 Product Code: Agency Notes: 25709- 03-07 Bid Attachments: Safety Data Sheets - First Offer od-03-06 Product Code: Agency Notes: 25709- 03-07 Bid Attachments: Warranty - First Offer od-03-07 Product Code: Agency Notes: 25709- 03-08 Bid Attachments: Warranty - First Offer od-03-08 Product Code: Agency Notes: 25709- 03-08 Bid Attachments: Substitution Information - First Offer od-03-08 Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes: 1 / each Lot Total: \$0.00 Item # Line Item Unit Price Qty/Unit Total Price 25709- 04-01 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:		Bid Attachments: Independent Test Results - First Offer		1 / each	
Product Code: Agency Notes: 25709- 03-06 Product Code: Agency Notes: 25709- 03-07 Product Code: Agency Notes: 25709- 03-07 Bid Attachments: Warranty - First Offer 03-08 Explier Product Code: Agency Notes: 25709- 03-07 Bid Attachments: Warranty - First Offer 03-08 Supplier Product Code: Agency Notes: 25709- 03-08 Bid Attachments: Substitution Information - First Offer 03-08 Product Code: Agency Notes: 25709- 03-08 Bid Attachments: Substitution Information - First Offer 03-08 Supplier Product Code: Agency Notes: Supplier Product Code: Agency Notes: Lot Total: \$0.00 Item # Line Item # Unit Price Qty/Unit Total Price 25709- 04-01 Product Code: Agency Notes: Supplier Product Code: Supplier Notes:					
Agency Notes: 2570903-06 Product Code: Agency Notes: Supplier Product Code: Agency Notes: Bid Attachments: Warranty - First Offer -03-07 Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 1 / each		Bid Attachments: Manufacturer's Certification - First Offer		1 / each	
-03-06 Product Code: Agency Notes: 2570903-07 Bid Attachments: Warranty - First Offer -03-07 Product Code: Agency Notes: 2570903-08 Bid Attachments: Substitution Information - First Offer -03-08 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: 2570903-08 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: PCC Sports does not have any substitution requests Lot Total: \$0.00 Item # Line Item Unit Price Qty/Unit Total Price 2570904-01 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code:	1				
Agency Notes: 2570903-07 Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Notes: 1 / each 1 / each Supplier Product Code: Supplier Notes: 2570903-08 Bid Attachments: Substitution Information - First Offer -03-08 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: PCC Sports does not have any substitution requests Lot Total: \$0.00 Item # Line Item # Unit Price Qty/Unit Total Price 2570904-01 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes:		Bid Attachments: Safety Data Sheets - First Offer		1 / each	
-03-07 Product Code: Agency Notes: 2570903-08 Bid Attachments: Substitution Information - First Offer -03-08 Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: PCC Sports does not have any substitution requests Lot Total: \$0.00 Item # Line Item		_ · ·			
Agency Notes: 2570903-08 Bid Attachments: Substitution Information - First Offer -03-08 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: PCC Sports does not have any substitution requests Lot Total: \$0.00 Item # Line Item	1	Bid Attachments: Warranty - First Offer		1 / each	
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: PCC Sports does not have any substitution requests Lot Total: \$0.00 Item # Line Item W-9: W-9 - First Offer -04-01 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Product Code:				
Agency Notes: Supplier Notes: PCC Sports does not have any substitution requests Lot Total: \$0.00 Item # Line Item W-9: W-9 - First Offer O4-01 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes:		Bid Attachments: Substitution Information - First Offer		1 / each	
Item # Line Item Unit Price Qty/Unit Total Price 25709- -04-01 W-9: W-9 - First Offer 1 / each Product Code: Agency Notes: Supplier Product Code: Supplier Notes:					
# Line Item Unit Price Qty/Unit Total Price 2570904-01					Lot Total: \$0.00
-04-01 Supplier Product Code: Agency Notes: Supplier Notes:		Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes: Supplier Notes:		W-9: W-9 - First Offer		1 / each	
Lot Total: \$0.00			, · ·		
					Lot Total: \$0.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.